3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,0,0)

A

[ po
pl

1 nugorze+ud | 25
3854+ 0.0
-34.42+ 0.00

1
100

TP delay [ns]

TVC(cbch) (0,0,4

- 1B yape+u4 / 25
o pO 3896+ 0.0
= pl 34.6+ 0.0

[ C=28.90[ps/c ]

50 10‘0
TP delay [ns]

TVC(cbch) (O 0,8

— T nug.3yle+ud / 25
Foe pO 3931+ 0.0
" pl -37.35+ 0.00

TP delay [ns]

TVC(cbch) (0,0,12

~ 1 nug syye+ud / 25

e PO 3944+ 0.0
-

pl -36.27 + 0.00

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,1)

A

[ PO
p1

ruz, (51e+U4 1 25
3858+ 0.0
-34.57 + 0.00

1
100

TVC(cbch) (0,0,2)

o po

p1

K71 nug ssse+u4 [ 25
3861+ 0.0
-34.44 + 0.00

3000
2000

1000

1
50 100

TVC(cbch) (0,0,3)

o LY
pl

AT 1nuiz, [ 34e+U4 [ 25
3865+ 0.0
-33.8+ 0.0

3000 -

2000 -

woor- C = 29.58 [ps/c

1
100

TP delay [ns]

TVC(c,b ch) (O 0,5

- 11U, fbbe+u4 [ 25
o DU 3897+ 0.0
" pL -34.9+ 0.0

[ C =28.66 [ps/c 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 0,9

= Tinun,r3/e+04 /25
Fu pO 3944+ 0.0
" pL -36.06 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,0,13

= T nug. zope+ud 25
= pO 3962+ 0.0
pl -35.54 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TP delay [ns]

TVC(cbch) (0,0,6

- 11Uy Bove+u4 | 25
[P pO 3901+ 0.0
[ = Pl -3348+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 0 10

T rnugple+u4 / 25

Fe DO 3964+ 0.0
-

[ pl -36.24 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,0,14

“ 1 4.00e+04 /25
= PD 3950+ 0.0
[ pl -35.23+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (0 0,7

-1 nug.0zye+u4 / 25
o PO 3916+ 0.0
= pL -34.86+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, O

ERALVR aa/e+u4/25

- pO 3975+ 0.0
-

pl -35.76 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,0,15

T g ysze+u4 [ 25
- pO 3959+ 0.0
pl -34.55+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,1,0

X~ 1 rsve+U4 [ 25
Fae PO 3899+ 0.0
= pl -34.53 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0.1,4

- 1L yuge+ud / 25
- pO 3922+ 0.0
= pl -34.75+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 1,8

© i bzye+u4 [ 25
Fau pO 3920+ 0.0
= Pl -35.36% 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,1,12

Tinuz.a4e+04 /25

- PO 3956+ 0.0
-

pl -37.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,1

AT 1 nuiLBLse+u4 / 25
P Y 3901+ 0.0
" pL -35.35.+ 0.00

TP delay [ns]

TVC(c,b ch) (O 1,5

— T rnun 2.zoe+04 | 25
Fon DU 3929+ 0.0
" pL -34.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 1,9

T nuw zgbe+ud [ 25
'- DO 3942+ 0.0
pl -34.63 + 0.00

TP delay [ns]

TVC(cbch) (0,1,13

- T rz.a54e+04 [ 25
e pO 3956+ 0.0
" pl -38.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (0,1,2)

- C = 27.55 [ps/& 1

A7 1 nuz.ugse+u4 [ 25
P po 3916+ 0.0
[ = pl 363+ 0.0

3000

1
50 100

TP delay [ns]

TVC(cbch) (0,1,6

-1 nuiLys4e+u4 [ 25
Fo pO 3937+ 0.0
[~ pl -35.54+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 1 10

©1nuig.guze+u4 | 25
'- DO 3952+ 0.0
[ pl -35.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,1,14

T 1nug.435e+04 [ 25
o PD 3948+ 0.0
[ "
[ pl -37.11+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,3

A1z ialeud ] 25
Fau po 3916+ 0.0
= pL -36.41+ 0.00

TP delay [ns]

TVC(c,b ch) (0 1,7

“nu1y/e+u4 /25

- PU 3946+ 0.0
-

pl -34.75+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, l

"o bdﬂe+l}4/25
'- pO 3951+ 0.0
pl -35.63+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,1,15

Tinanzn/e+ud [ 25
3956+ 0.0
-37.21+ 0.00

P B S S
50 100

TP delay [ns]



4000
b

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,2,0)

T Lyie+ud /25
pO 3900+ 0.0
pl -36.57 + 0.00

1
100

TP delay [ns]

TVC(cbch) (02,4

-1 nuigbY4e+04 / 25
pO 3888+ 0.0
pl -35.95+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (O 2,8

T z.8Ye+u4 /25
PD 3931+ 0.0
pl -35.95+ 0.00

1
100

TP delay [ns]

TVC(cbch) (0,212

T rnuiz4r0e+04 / 25
pO 3940+ 0.0
pl -37.03+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1

AT 1 nuiLyube+ud [ 25
- po 3901+ 0.0
- pl -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (O 2,5

-1 nui Bole+u4 / 25
- pO 3900+ 0.0
" pl -36.83 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

~ 1 nuy.pbze+ud / 25

- DO 3958+ 0.0
-

pl -36.62 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,213

-1 nuiz suve+ud 25

P pO 3925+ 0.0
-

pl -37.06 + 0.00

TP delay [ns]

4000
b=

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(c,b,ch)=(0, 2, 2

- C = 27.70 [ps/S 1

A7 1 nuiz.usoe+ud /25
po 3914+ 0.0
p1 -36.1+ 0.0

1
100

TP delay [ns]

TVC(cbch) (0,2,6

= 1L 9use+ud / 25
pO 3900+ 0.0
pl -36.6+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (0, 2 10

Tinugzr1e+04 /25
DO 3961+ 0.0
p1 -36.46  0.00

1
100

TP delay [ns]

TVC(cbch) (0,2 14

Tz proe+ud [ 25
PD 3938+ 0.0
pl -37.43+ 0.00

TP delay [ns]

4000
b

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3)

T/ Lboe+ud /25
pO 3917+ 0.0
pl -36.85+ 0.00

TVC(c,b ch) (0 2,7

1
100

TP delay [ns]

-1 i Byoe+u4 / 25
pO 3920+ 0.0
p1 -37.46+ 0.00

TVC(c,b ch) (0, 2

TP delay [ns]

T, /aue+u4/25
pO 3960+ 0.0
pl -36.22 + 0.00

1
100

TP delay [ns]

TVC(C, bch) (0,215

T nuizn3ve+ud [ 25
PO 3938+ 0.0
p1 -37.25+ 0.00

PR
100

TP delay [ns]



TVC(cbch) (0,3,0

4000

3000

2000

1000

X~ 1L sype+U4 [ 25
P po 3900+ 0.0
= pl -36.43+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,34

4000

3000

2000

1000

- rnuz,u30e+u4 / 25
Fae pO 3899+ 0.0
= pl -35.00+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 3,8

4000

3000

2000

1000

[ C=28.57[ps/c ]

©1nuig.4uge+u4 | 25

- PD 3933+ 0.0
-

pl -35+ 0.0

%

1
50 100

TP delay [ns]

TVC(cbch) (0,312

4000

3000

2000

1000

Tz z4ve+u4 | 25
3952+ 0.0
-37.01+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1

AT 1 nuiL, ryoe+u4 [ 25
P po 3909+ 0.0
" Pl -35.26+0.00

TP delay [ns]

TVC(c,b ch) (O 3,5

T rnan zuge+ud | 25
P DU 3900+ 0.0
" pL -35.57+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

~ 1 nuy.anae+ud [ 25

b pO 3944+ 0.0
-

pl -35.48 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,3,13

- Tz soge+u4 [ 25
e pO 3956+ 0.0

-
pl -35.44 + 0.00

PR SRS S
50 100

TP delay [ns]

TVC(cbch) (0,3,2)

4000
3000
2000

1000

K™ 1 nui gsye+ud / 25
P po 3912+ 0.0
[ = p1 -36.41% 0.00

TP delay [ns]

TVC(cbch) (0,36

4000
3000
2000

1000

- rnuz383e+04 [ 25
P pO 3907+ 0.0
[ = pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (0, 3 10

4000
3000
2000

1000

© 1 nuigozve+u4 | 25
'- DO 3956+ 0.0
[ pl -35.33+ 0.00

0

TP delay [ns]

TVC(cbch) (0,3 14

4000

3000
2000

1000

Tinuzslie+ud /25

e PD 3967+ 0.0
-

[ pl -36.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3

[ C=27.63 [ps/c ]

AT 1 nuiLysoe+u4 / 25
- PO 3926+ 0.0
= pl -36.2+ 0.0

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (0 3,7

- nu 189e+u4 / 25

P pO 3930+ 0.0
-

pl -35.76 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 3

"o bbze+u4/25
'- pO 3959+ 0.0
pl -36.04 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (03,15

Tz lple+u4 / 25
- pO 3971+ 0.0
pl -35.57 + 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (0,4,0

4000

3000

2000

1000

A7 nuz usse+ud [ 25
P po 3896+ 0.0
- pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (0.4,4

4000

3000

2000

1000

T i z2.44e+04 1 25
- pO 3897+ 0.0
" pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (O 4,8

4000

3000

2000

1000

[ C=28.41[psl/c ]

©nuzgzoe+04 | 25
- PD 3930+ 0.0
- p1 -35.2+ 0.0

%

1
50 100

TP delay [ns]

TVC(cbch) (0,4,12

4000

3000

2000

1000

Tz 1ure+u4 /25
P pO 3925+ 0.0
- pl -36.72+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1

A7 1 nuiLYoge+u4 25
- po 3889+ 0.0
- p1 -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (O 4,5

- U 383e+04 / 25
P pO 3896+ 0.0
" pl -37.09 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

~nuy.zyle+ud [ 25

' pO 3944+ 0.0
-

pl -35.26 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,4,13

Tinuzzyle+ud [ 25

"~ pO 3933+ 0.0
-

pl -36.65+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (0,4,2)

K™ inugzize+04 /25
- po 3903+ 0.0
[= p1 -38.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (04,6

- rnuz.410e+04 / 25
- pO 3907+ 0.0
[ ™ pl -38.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 4 10

©1nug zope+ud | 25
b po 3962+ 0.0
[
N pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,4,14

1 nuiz.4uve+ud | 25
- pD 3922+ 0.0
: - pl -36.96 + 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3

AT 1z 1yve+ud [ 25
. po 3923+ 0.0
- p1 -36.84 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

~1nu.44/e+04 / 25
- pO 3908+ 0.0
- p1 -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 4

EALER yzze+u4/25
- pO 3964+ 0.0
pl -36.42 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

T inuizgb/e+ud [ 25
P pO 3924+ 0.0
- p1 -37.73+ 0.00

P B S
50 100

TP delay [ns]



3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,5,0)

A~ nui Base+u4 | 25
- po 3869+ 0.0
- p1 -36.84 + 0.00

TP delay [ns]

TVC(cbch) (05,4

- i, r8oe+u4 / 25
- pO 3896+ 0.0
- p1 -35.43+ 0.00

TP delay [ns]

TVC(cbch) (O 5,8

S rnu Zuse+ud [ 25
P pD 3894+ 0.0
- pl -34.69 + 0.00

1
50 00

TP delay [ns]

TVC(cbch) (0,5,12

- i slae+ud [ 25

- po 3905+ 0.0
-

p1 -34.95+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000
k.

3000

2000

1000

TVC(cbch) (0,51

A7 1 nuiLgove+Us / 25
- po 3859+ 0.0
- p1l -37.71+ 0.00

TP delay [ns]

TVC(c,b ch) (O 55

- 11ug.412e+04 [ 25
k. pO 3878+ 0.0
- pL -36.33 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (0 59

-1 nuws.oyse+u4 | 25

P pO 3905+ 0.0
-

p1 -35.62 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (0, 5 13

T 1 nuiLagse+ud / 25
3913+ 0.0
-34.81+ 0.00

P R T
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (0,5,2)

X~ 1 529e+04 [ 25
- po 3873+ 0.0
[ = p1 -36.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,56

©1nug,b44e+04 / 25
- pO 3890+ 0.0
: - pl -36.15+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(0, 5, 10

- iz, ($1e+04 1 25
F- pO 3930+ 0.0
: Pl -35.43% 0.00

3000

TP delay [ns]

TVC(cbch) (0,5,14

- 1 pzoe+u4 [ 25
b, pD 3908+ 0.0
- pl -35.79+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,3

A~ 1 ug Uose+ud | 25
- po 3880+ 0.0
- pL -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (0 57

-1 nui 440e+04 / 25

P pO 3920+ 0.0
-

pl -34.04 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (0, 5

EEALEVX U':ue+l]4/25
F-_ po 3929+ 0.0
p1 -34.93+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (0, 5 15

T nuigp3e+ud [ 25

- pO 3910+ 0.0
-

p1 -35.33+ 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0)

AT g rae+04 /25
- PO 3902+ 0.0
- pl -36.75+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (06,4

-1 nuz 148e+04 / 25
- pO 3891+ 0.0
" pl -36.62 + 0.00

TP delay [ns]

TVC(cbch) (O 6,8

T nuig.usbe+u4 / 25
P PD 3908+ 0.0
- pl -36.81+ 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T z1ae+04 /25

.. po 3932+ 0.0
-

pl -35.16 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1)

AT 1L sbze+ud [ 25
- po 3898+ 0.0
- pl -36.17 + 0.00

TP delay [ns]

TVC(c,b ch) (O 6,5

- nui uge+u4 [ 25
- pO 3885+ 0.0
" pl -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

-1y guse+ud [ 25
- pO 3925+ 0.0
" pl -36.54 + 0.00

TP delay [ns]

TVC(C, bch) (0,6,13

T nuiz 1oye+ud / 25

k.. pO 3924+ 0.0
-

pl -35.34+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,6,2)

AT nunssae+04 /25
- po 3906+ 0.0
: ", pl -35.89+ 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

- 1nug zose+u4 [ 25
- pO 3898+ 0.0
[ = pl -36.09 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 6 10

0

T 1nug 334e+04 / 25
k. po 3943+ 0.0
| -
[ pl -37.37 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

~ 1 nuiLyyse+u4 / 25
- pD 3922+ 0.0
: ", pl -36.02 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3

A~ 1 i 9aae+U4 [ 25
P po 3917+ 0.0
- pl -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

-1 nu 3use+ud / 25

- pO 3903+ 0.0
-

Pl -35.12 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 6

BRRLEUER sse+u4/25

- po 3954+ 0.0
-

pl -37.73+ 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

Tonazure+ud | 25

.. pO 3926+ 0.0
-

p1 -35.77 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000
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TP delay [ns]
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TVC(CbCh) (o, 14 0)

T Ly oe+u4 [ 25
pO 3878+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (0,144

-1 nuz,uzoe+ud / 25
pO 3914+ 0.0
p1 -34.93 0.00

10‘0
TP delay [ns]

TVC(cbch) (0, 14 8

T 1nug.gr9e+u4 | 25
PD 3907+ 0.0
pl -35.63+ 0.00

1
100

TP delay [ns]

TVC(cbch) (0,14, 12

Tz 349e+04 | 25
pO 3924+ 0.0
pl -36.24 + 0.00
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100

TP delay [ns]
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1000

TVC(cbch) (0,14,1)

AT 1z 138e+U4 [ 25
po 3897+ 0.0
pl -36.05+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (0,14,5

“nu13/e+u4 [ 25
pO 3916+ 0.0
pl -35.16 + 0.00

1(;0
TP delay [ns]

TVC(ebeh)=(0, 14,9

-1 nuiLyble+us / 25
pO 3918+ 0.0
p1 -36.31+ 0.00

1
100

TP delay [ns]

TVC(cbch) (014,13

T 1 nuiz zsoe+ud | 25
PO 3922+ 0.0
pl -36.64 + 0.00

TP delay [ns]
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1000

TVC(CbCh) (o, 14 2)

Tz 1rve+ud [ 25
DO 3901+ 0.0
pl -36.15+ 0.00

1
100

TP delay [ns]

TVC(cbch) (0.14,6

T rnuzz1e+u4 [ 25
pO 3922+ 0.0
pl -34.29 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (0, 14 10

T 1nuigpade+u4 | 25
DO 3932+ 0.0
pl -36.24 + 0.00

1
100

TP delay [ns]

TVC(cbch) (0.14,14

Tz gore+ud [ 25
PD 3930+ 0.0
pl -37.41+ 0.00

TP delay [ns]
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1000

TVC(cbch) (0,14,3)

AT 1 nuzzyse+ud [ 25
po 3905+ 0.0
p1 -35.48 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (0,14,7

-1 nu 158e+04 / 25
pO 3918+ 0.0
pl -34.84+ 0.00

1(;0
TP delay [ns]

TVC(ehch)=(0, 14, 11

Tinuz./1/e+u4 /25
pO 3930+ 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(cbch) (0,14,15

T nuiz zyse+ud [ 25
3933+ 0.0
-37.61+ 0.00

PR
100

TP delay [ns]
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b
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1000
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2000

1000

TVC(CbCh) (o, 15 0)

© L pove+u4 [ 25
3914+ 0.0
pl -33.87 + 0.00

TP delay

TVC(cbch) (0,154

- P°

[ns]

-1z zobe+ud / 25
3909+ 0.0
pl -36.29 + 0.00

TP delay

TVC(cbch) (0, 15 8

[ns]

T 1nuig.4use+u4 / 25
3925+ 0.0
pl -35.56 + 0.00

1
0 50 100

TP delay

TVC(cbch) (0,15, 12

[ns]

T nuz5y3e+u4 | 25
3939+ 0.0
pl -35.15+ 0.00

TP delay

PR RS SR B
50 100

[ns]

TVC(cbch) (0,15,1)
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- PO

AT 1 nuLyyze+ud [ 25
3917+ 0.0
p1 -33.34+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (0,155

4000
. pO

[ns]

- 1nu baze+ud [ 25
3909+ 0.0
pl -36.58 + 0.00

3000

2000

1000

50 1(;0
TP delay

TVC(c, bch) (0, 15 9

4000 F
. pO

[ns]

Tonan 1 Zoe+u5 /25
3961+ 0.0
pl -35.65+ 0.00

3000
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1000

1
50 100

TP delay

TVC(cbch) (0.15,13

[ns]

T nuizooze+ud [ 25
3931+ 0.0
-35+ 0.0

4000
Fae pO
- p1
3000 -
2000 -

lo00F C = 28.57 [ps/c

TP delay

PR SRS S
50 100

[ns]
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1000

TVC(CbCh) (0,15,2)

= PO

K™ 1 nuzpuie+ud /25
3922+ 0.0
pl -35.58 + 0.00

TP delay

TVC(cbch) (0.15,6

- PO

[ns]

T rnuba1e+u4 [ 25
3914+ 0.0
pl -36.71+ 0.00

TP delay

TVC(cbch) (0, 15 10

0

pO

[ns]

1 nu pude+ud | 25
3975+ 0.0
pl -36.36 + 0.00

TP delay

TVC(cbch) (0,15, 14

P pD

[ns]

Tz b33e+ud [ 25
3930+ 0.0
pl -34.67 + 0.00

TP delay

PR SR T
50 100

[ns]

TVC(cbch) (0,15,3)
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AT 1z 1roe+u4 [ 25
3921+ 0.0
pl -35.14+ 0.00
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TP delay

TVC(c, bch) (0,157
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b PU

[ns]

-1, (4pe+04 [ 25
3928+ 0.0
pl -36.86 + 0.00
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50 1(;0
TP delay

TVC(cbch) (o, 15 1
4000:

pO
pl

[ns]

T inuigzo/e+u4 [ 25
3966+ 0.0
-34.7+ 0.0

3000 -

2000~

oo C = 28.82 [ps/c

1
50 100

TP delay

TVC(cbch) (015,15

4000
b,

[ns]

1 nuiz syoe+ud 25
3935+ 0.0
-35.21+ 0.00
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TP delay

P B S S
50 100

[ns]
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TVC(cbch) (1,0,0)

A7 nuipsse+ud /25
3880+ 0.0
-36.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (10,4

- L yzoe+ud / 25
- pO 3865+ 0.0
" pl -36.24 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T zz3e+04 /25
P PD 3902+ 0.0
- pl -34.63 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,0,12

T rnuiLgs4e+u4 / 25
P pO 3909+ 0.0
-, pl -35.23+ 0.00
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50 100

TP delay [ns]
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TVC(cbch) (1,0,1)

AT 1L szoe+ud [ 25
- po 3878+ 0.0
- pl -37.11+ 0.00

TP delay [ns]

TVC(c,b ch) (1, O

[ C=28.01[ps/c 7

=1 Ui Yo3e+ud / 25
- pO 3878+ 0.0
" pl -35.7 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 0,9

~ 1 nuw 3bae+ud 25
P DO 3921+ 0.0
" pl -34.82+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,0,13

T a1 rse+ud [ 25
P pO 3900+ 0.0
- pl -36.23+ 0.00

TP delay [ns]
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TVC(cbch) (1,0,2)

AT 1 nuLs1ye+u4 /25
. po 3883+ 0.0
: ", pl -35.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- C = 28.01 [ps/c .

- rnuz,013e+u4 / 25
- pO 3889+ 0.0
[ = pl -35.7 + 0.0

3000

50 10‘0
TP delay [ns]

TVC(cbch) (1, 0 10

T nug.urve+u4 | 25
Fu_ po 3938+ 0.0
: pl -35.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

T rnuizgure+ud /25
- DD 3903+ 0.0
: - pl -37.56 + 0.00

3000

TP delay [ns]
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1000

TVC(cbch) (1,0,3)

AT rnuiLBlye+ud [ 25
- po 3899+ 0.0
-, pl -36.63+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

~ 1 nu Zoae+u4 [ 25
- pO 3892+ 0.0
" pl -36.57 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

AR b/be+U4/25
F- po 3940+ 0.0
pl -35.75+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,0,15

Tinuzzsie+ud [ 25
P pO 3903+ 0.0
- p1 -36.73+ 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (1,1,0
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rC=27.48 [ps/ ]

A7 1 nui goae+ud / 25
P po 3874+ 0.0
- p1 -36.4+ 0.0
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1000
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1
50 100

TP delay [ns]

TVC(cbch) (11,4

Tz 14/e+04 /25
- pO 3878+ 0.0
" pl -35.89+ 0.00

TP delay [ns]

TVC(ebioh)=(1, 1,8

© a2 yose+ud | 25
P PD 3906+ 0.0
- pl -34.86 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,12

Tz sz3e+04 [ 25
P pO 3908+ 0.0
- pl -36.58 + 0.00

PR RS SR B
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TP delay [ns]
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TVC(cbch) (1,1,1

AT 1 nuLyuse+ud [ 25
- po 3899+ 0.0
- pl -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

T U 333e+04 / 25
- pO 3892+ 0.0
" pl -36.33+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 1

T nuiL 133e+U5 / 25

3 pO 3933+ 0.0
-

p1 -34.54 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T nu s30e+ud / 25
3897+ 0.0
-37.01+ 0.00

PR
100

TP delay [ns]

TVC(cbch) (1,1,2)
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T zuse+ud /25
- po 3901+ 0.0
: " pl -35.53+ 0.00
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1000

TP delay [ns]

TVC(cbch) (11,6

S rnuz2.31e+04 [ 25
. pO 3902+ 0.0
[ = pl -36.22 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 1, 10

T g g33e+U4 / 25
Fu_ po 3940+ 0.0
: pl -34.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,114

Tz, 1ze+04 | 25
P DD 3906+ 0.0
: - pl -37.04 + 0.00
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TP delay [ns]
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1000

TVC(cbch) (11,3

T zuse+ud [ 25
- pO 3911+ 0.0
" pl -35.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

- nui Y ge+u4 / 25
k. pO 3909+ 0.0
" pl -35.43 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (1, 1 11

~ 1 nuiz.p44e+04 / 25
F- po 3937+ 0.0
pl -35.29 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,15

T nuizyrve+ud [ 25

P pO 3910+ 0.0
-

p1 -35.46 + 0.00

P B S S
50 100

TP delay [ns]
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TVC(cbch) (1,2,0

rC=27.10 [ps/ ]

K™ nui sple+ud / 25
P po 3889+ 0.0
- pl -36.9+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,24

T 1nu 5gze+04 / 25
P pO 3914+ 0.0
" pl -36.07 + 0.00

TP delay [ns]

TVC(ebch)=(1,2,8

©1nuizyzve+u4 | 25
P PD 3906+ 0.0
- pl -35.17 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,212

T rnuizgyse+ud | 25
P PO 3934+ 0.0
-, pl -36.94 + 0.00

PR RS SR B
50 100

TP delay [ns]
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TVC(cbch) (1,2,1

AT 1L szoe+ud [ 25
- po 3902+ 0.0
- pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

S nu fyure+ud [ 25
" pO 3933+ 0.0
" pl -35.99 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T inun poze+u4 [ 25
F- po 3926+ 0.0
pl -35.32 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,213

Tinu s31e+ud [ 25
P pO 3928+ 0.0
- pl -37.46 + 0.00

TP delay [ns]
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1000

TVC(cbch) (1,2,2)

A7 1 nui sooe+u4 / 25
P po 3912+ 0.0
: "~ pl -35.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

-1 Uz Bu4e+ud | 25
P pO 3940+ 0.0
[~ pl -36.16 + 0.00

3000

TP delay [ns]

TVC(ebeh)=( 1,2, 10

Tz y3ie+ud | 25
F-_ po 3935+ 0.0
: pl -35.37 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,2 14

1 nuzgode+u4 | 25

» PD 3938+ 0.0
L -

[ pl -36.43+ 0.00
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TP delay [ns]
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TVC(cbch) (1,2,3

A 1L ra3e+U4 [ 25
. po 3914+ 0.0
" pl -34.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

“rnub3/e+u4 /25

- pO 3939+ 0.0
-

Pl -35.85: 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

AL szue+u4/25
F- po 3952+ 0.0
pl -36.12+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,215

-1 nuiz.puze+ud [ 25
3934+ 0.0
-36.41+ 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (1,3,0

4000

3000

2000

1000

A7 nuiLgsse+ud /25
P po 3896+ 0.0
- pl -37.43+ 0.00
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TP delay [ns]

TVC(cbch) (1,34
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1000

- rnuz,018e+ud / 25
- pO 3891+ 0.0
" pl -37.39 % 0.00

TP delay [ns]

TVC(cbch) (1 3,8
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1000

[ C=28.17 [ps/c ]

©1nuz5yse+u4 | 25
- PD 3936+ 0.0
- p1 -35.5+ 0.0

%

1
50 100

TP delay [ns]

TVC(cbch) (1,312
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T rnuiLgure+u4 / 25

- po 3915+ 0.0
-

pl -33.59+ 0.00
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TP delay [ns]
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1000

TVC(cbch) (1,31

AT 1 nunLBuse+ud [ 25
- po 3908+ 0.0
- pl -36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

- 1. oe+u4 25
- pO 3911+ 0.0
- pl -38.68 + 0.00

TP delay [ns]

TVC(c,b ch) (1,3,9

— X™ 1 nub.Urze+u4 | 25
e po 3949+ 0.0
" pl -36.14 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,3,13

T inair34e+04 / 25
3916+ 0.0
-33.71+ 0.00

TP delay [ns]
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A~ 1nuiLyore+ud /25
- po 3909+ 0.0
: ", pl -36.33+ 0.00
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TP delay [ns]

TVC(cbch) (1,36

- 1nuz 189e+u4 / 25
- pO 3913+ 0.0
[ = pl -38.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 3 10

T nuzp3ge+ud | 25
Fa_ po 3971+ 0.0
: pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,3 14

“roa "50.16/25
[P PD 3908+ 0.9
|
r p1 -33.46 + 0.02
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TP delay [ns]
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TVC(cbch) (1,3,3

AT 1L szoe+u4 [ 25
3 po 3920+ 0.0
-, pl -36.81+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

- 1ui2.04be+04 / 25
F. pO 3921+ 0.0
" pl -38.12+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

T ame+u4/25
- pO 3957+ 0.0
pl -35.75+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,315

T nui suye+ud / 25

.. pO 3915+ 0.0
-

p1 -34.28 + 0.00

P B S S
50 100

TP delay [ns]
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TVC(cbch) (1,4,0)

T Lose+ud /25
P pO 3902+ 0.0
- pl -38.57 + 0.00

TP delay [ns]

TVC(cbch) (14,4

T rnuz0rye+ud | 25
P pO 3910+ 0.0
" pl -35.22+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

T rnuzyr4e+u4 [ 25
- PD 3937+ 0.0
- pl -36.83+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,4,12

T rnuizurse+ud | 25

P pO 3916+ 0.0
-

pl -35.17 + 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1)

AT 1 nuiz 114e+04 /25
P po 3901+ 0.0
- pl -39.13+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

- 1nu 1u4e+u4 [ 25
P pO 3917+ 0.0
" pl -36.19 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 4

— ~ 1 nuy.Zzope+ud / 25
= DO 3964+ 0.0

-
pl -36.83 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,4,13

Tonaz.z1e+u4 /25

P pO 3917+ 0.0
-

pl -36.13+ 0.00

TP delay [ns]
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TP delay [ns]

TVC(cbch) (1,4,6

T rnun Z11e+04 /25
- pO 3917+ 0.0
[ = pl -36.72:+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 4, 10

T 1nuig.403e+04 / 25
3978+ 0.0
-37.61+ 0.00

TP delay [ns]

TVC(cbch) (1,4,14

T z.33e+u4 /25
- pD 3921+ 0.0
| "
[ pl -36.03+ 0.00
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AT 1z, 1oye+ud [ 25
P po 3915+ 0.0
- pl -37.93+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

-1 nu 18Ye+u4 / 25
» pO 3930£ 0.0
" pl -35.98 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

[ C=27.32[ps/c ]

1)
~ 1 nuiz ogze+u4 25
- pO 3974+ 0.0
pl -36.6 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,4,15

T 1nuiz sule+ud / 25
3910+ 0.0
-36.41+ 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (1,5,0)
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4000

3000

2000

1000
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. pO 3924+ 0.0
- p1 -36.23+ 0.00
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- pl -36.62+ 0.00

%

TP delay [ns]

TVC(cbch) (1,512
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T nui /ge+u4 [ 25
- pO 3924+ 0.0
" pl -36.31+ 0.00
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P pO 3958+ 0.0
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- rnunLgsle+ud / 25
b po 3936+ 0.0
[ = pl -36.97 + 0.00
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© 1 nuig pzge+u4 | 25
b po 3965+ 0.0
| T
[ pl -37.18+ 0.00

3000
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-1 nuz.0zge+u4 / 25
» pO 3947 £ 0.0
" pl -35.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 5

T, Ubbe+U4/25

- pO 3974+ 0.0
-

pl -37.15+ 0.00

TP delay [ns]

TVC(C, bch) (1,5,15
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» pO 3960+ 0.0
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p1 -35.83+ 0.00
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- pl -37.36+ 0.00
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TVC(cbch) (16,4

T nuiLg1/e+u4 / 25
F pO 3914+ 0.0
" pl -37.01+ 0.00

TP delay [ns]

TVC(cbch) (1 6,8

T 1nuiz410e+04 / 25
- PD 3931+ 0.0
- pl -35.06 + 0.00
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TVC(cbch) (1,6,12

T z.3ae+04 /25
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~ 1L 9yve+u4 [ 25
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" pl -36.45+ 0.00

50 1(;0
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TVC(c,b ch) (1,6,9

— ""Ubb//e+U4/25
e po 3948+ 0.0
" pl -35.47 + 0.00
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TVC(C, bch) (1,6,13
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P pO 3925+ 0.0
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P pO 3923+ 0.0
[ = pl -35.91+ 0.00
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TVC(cbch) (1, 6 10

T, rgre+u4 | 25
Fa_ po 3965+ 0.0
: pl -35.25+ 0.00
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TVC(cbch) (17,4

- i B13e+ud / 25
- pO 3890+ 0.0
" pl -37.05+ 0.00

TP delay [ns]

TVC(ebioh)=(1,7,8

T, ro4e+04 [ 25
P PD 3916+ 0.0
- pl -36.67 + 0.00
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TVC(cbch) (1,7,12

Tz, 1zoe+04 | 25
k.. po 3932+ 0.0
b’ pl -35.69 + 0.00
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- nuiLyuse+ud / 25
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" pl -36.81+ 0.00
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TVC(c,b ch) (1, 7

-1 nub, 1yge+u4 / 25
k. pO 3923+ 0.0
" pl -35.99+ 0.00
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- nurL93ve+ud / 25
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i pl -37.26 + 0.00
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TVC(ebeh)=(1, 7, 10

T nuig34ze+04 [ 25
b po 3929+ 0.0
-
[ pl -36.12+ 0.00
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[ pl -35.66 + 0.00
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- po 3908+ 0.0
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TVC(c,b ch) (1 7,7

- 3z0e+04 125
k. pO 3911+ 0.0
- pl -37.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

[C=27.18 [ps/C ]

1)
T zbe+u4 /25
ol pO 3935+ 0.0
-
pl -36.8+ 0.0
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50 100

TP delay [ns]

TVC(C, bch) (1,7,15

T nuiz zose+ud [ 25

- pO 3935+ 0.0
-

p1 -35.87+ 0.00

P B S S
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- p1 -36.24 + 0.00
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50 100

TP delay [ns]

TVC(cbch) (18,4

T i 743e+04 / 25
- pO 3898+ 0.0
- p1 -38.09+ 0.00

TP delay [ns]

TVC(cbch) (1 8,8

- rnupl1ze+ud [ 25
F pD 3899+ 0.0
- pl -36.81+ 0.00

TP delay [ns]
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- 1 nuiz_sooe+u4 / 25
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-

p1 -36.74 + 0.00
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- pO 3894+ 0.0
- p1 -37.6+ 0.0
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TVC(c,b ch) (1 8,9

-1 nuiL 1bbe+us / 25

- po 3929+ 0.0
-

p1 -36.42+ 0.00
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50 00

TP delay [ns]

TVC(c,b Ch) (1, 8 13

Tinuz13/e+ud [ 25

P pO 3927+ 0.0
-
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C=28.17 [ps/c ]
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TVC(cbch) (1,86

-1z, 0ube+u4 / 25
- pO 3900+ 0.0
[ p1 -37.29+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(1, 8, 10

-1 g 50ae+04 1 25
F-_ po 3941+ 0.0
b Pl -36.33: 0.00
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TVC(c,b,ch)= (1 8,7

; - rnu19e+ud [ 25
- pO 3900+ 0.0
- pl -37.4+ 0.0

50 160
TP delay [ns]

TVC(cbch) (1, 8 11

Tinuza/e+u4 /25
F- po 3935+ 0.0
p1 -36.3+ 0.0

[ C=27.55[ps/c 7]

1 1
50 00

TP delay [ns]

TVC(cbch) (1,8,15

_ Ao )Ly oeUA ] 25
- po 3939+ 0.0

-
p1 -36.06 + 0.00

PR IR T
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TVC(cbch) (1,9,0

AT 1nuiLyise+ud /25
P po 3895+ 0.0
-, pl -36.37 + 0.00
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50 100

TP delay [ns]

TVC(cbch) (1,94

- rnuiLy1ve+ud / 25
- pO 3908+ 0.0
- p1 -36.52:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 9,8

T, r14e+04 | 25
P pD 3898+ 0.0
-, pl -34.18 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,9,12

~1nuiz.440e+04 / 25

- po 3918+ 0.0
-

pl -35.01+ 0.00
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- po 3908+ 0.0
- pl -36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

T 1z1e+04 /25
P pO 3918+ 0.0
" pl -36.99 + 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

~ 1 nuiL4z4e+05 / 25
3925+ 0.0
-34.91+ 0.00

1
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TP delay [ns]

TVC(C, bch) (1,9,13

T inuzslye+ud [ 25

k.. pO 3011+ 0.0
-

pl -34.39+ 0.00
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Srna z1e+u4 /25
. pO 3922+ 00
[ = pl -37.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 9 10

© 1 nun 314e+04 / 25
F-_ po 3934+ 0.0
[ pl -35.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,914

~1nuz syoe+ud | 25
L po 3907+ 0.0
: ", pl -35.58 + 0.00
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AT 1z syoe+ud [ 25
P po 3919+ 0.0
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TP delay [ns]

TVC(c,b ch) (1 9,7

-1 U Zbae+u4 [ 25
» pO 3934+ 0.0
" pl -36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

Ty, 1=e+u4/25
o2 po 3939+ 0.0
p1 -34.38 £ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,9,15

Tinuizasze+ud [ 25

.. pO 3924+ 0.0
-

p1 -34.52 + 0.00

P B S S
50 100
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pl -36.13+ 0.00
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TP delay [ns]

TVC(cbch) (1,104

-1 nuz,ua4e+04 / 25
pO 3899+ 0.0
pl -34.69 + 0.00

1
100

TP delay [ns]

TVC(cbch) (1, 10 8

T g4z e+04 [ 25
PD 3920+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

Tz 1o1e+04 /25
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pl -34.13+ 0.00
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TVC(c, bch) (1,10,5

-1 nuz.03be+u4 / 25
pO 3894+ 0.0
pL -35.36+ 0.00

1(;0
TP delay [ns]

TVC(ebeh)=( 1, 10,9

-1 nuw.200e+u4 / 25
DO 3937+ 0.0
pl -36.24 + 0.00
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100
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TVC(cbch) (1,10,6

- C = 28.09 [ps/c .

- 1 nurLyyye+ud / 25
pO 3911+ 0.0
pl -35.6+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (1, 10 10

1 nuzgobe+u4 | 25
po 3949+ 0.0
pl -36.69 + 0.00
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pl -35.16 + 0.00
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TVC(c, bch) (1,10,7
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pO 3921+ 0.0
pl -35.96 + 0.00

1
100

TP delay [ns]

TVC(eh.eh)=(1, 10, 11

T nuz.plae+u4 [ 25
pO 3959+ 0.0
pl -38.56 + 0.00

TP delay [ns]

TVC(cbch) (1,10,15

-1 nuiz.usse+ud / 25
3932+ 0.0
-33.91+ 0.00
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100
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TVC(cbch) (1,114

- rnunLy18e+ud / 25
pO 3908+ 0.0
pl -36.04 + 0.00

10‘0
TP delay [ns]

TVC(ebeh)=(L, 11,8

©1nug,109e+U4 / 25
PD 3921+ 0.0
pl -37.12+ 0.00
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pl -36.29 + 0.00
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TVC(cbch) (1,11,5

[ C=27.55[ps/C 7

- 1nu.zole+u4d [ 25
- pO 3902+ 0.0
- p1 -36.3+ 0.0

50 1(;0
TP delay [ns]

TVC(eb.eh)=(1, 11, 9

~ 1 nui gbze+ud [ 25
k.. po 3942 0.0
- pl -37.87+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T inuiLyroe+ud [ 25

"~ pO 3935+ 0.0
-

pl -36.81+ 0.00
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pl -37.16+ 0.00

1
100

TP delay [ns]

TVC(cbch) (1,11, 14

X~ 1 1uizupve+ud [ 25
po 3925+ 0.0
pl -37.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
=]

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT rnuz1uie+ud [ 25
po 3926+ 0.0
pl -36.62+ 0.00

1
100

TP delay [ns]

TVC(cbch) (1,11,7
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T nuzb18e+u4 [ 25
pO 3968+ 0.0
pl -37.29+ 0.00

TP delay [ns]
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Tinuizi//e+ud /25
PO 3933+ 0.0
p1 -37.76 + 0.00

TP delay [ns]



TVC(CbCh) (1, 12 0)

3000

2000

1000

~ 1w py4e+u4 [ 25
pO 3866+ 0.0
pl -34.98 + 0.00

4000

1
100

TP delay [ns]

TVC(cbch) (1,124

3000

2000

1000

- i ys3e+ud / 25
pO 3879+ 0.0
pl -35.44 + 0.00

10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

4000

3000

2000

1000

0

Tz, (z9e+04 | 25
PD 3901+ 0.0
pl -35.85+ 0.00

0

1
100

TP delay [ns]

TVC(cbch) (1,12,12

4000

3000

2000

1000

~ L gove+u4 / 25
PO 3904+ 0.0
pl -35.17 + 0.00

PR
100

TP delay [ns]

3000

2000

1000

4000
b

3000

2000

1000

4000
k.

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,12,1)

A1 L 74e+ud [ 25
po 3872+ 0.0
pL -35.43 £ 0.00

1
100

TP delay [ns]

TVC(cbch) (1,125

- 1nu193e+u4 / 25
pO 3890+ 0.0
pl -35.75+ 0.00

1(;0
TP delay [ns]

TVCEbeh)=( 1, 12,9

T nu, r34e+04 / 25
DO 3917+ 0.0
p1 -34.52+ 0.00

1
100

TP delay [ns]

TVC(cbch) (112,13

[ C=27.70 [ps/C ]

Tonanzaze+ud | 25
PO 3894+ 0.0
p1 -36.1% 0.0

PR
100

TP delay [ns]

4000

ke
3000
2000

1000

4000

ke
3000
2000

1000

4000

ke,
3000
2000

1000

0

4000

ke
3000
2000

1000

TVC(CbCh) (1,12,2)

K™ 1 nui roze+V4 /25
po 3883+ 0.0
pl -35.13+ 0.00

1
100

TP delay [ns]

TVC(cbch) (1126

- 1L y8be+u4 / 25
pO 3890+ 0.0
pl -35.57 + 0.00

10‘0
TP delay [ns]

TVC(Eepeh)=( 1, 12, 10

Srua o 3e+04/25
DO 3928+ 0.0
pl -35.77 + 0.00

1
100

TP delay [ns]

TVC(cbch) (112,14

T rnuiLysde+u4 [ 25
PD 3908+ 0.0
pl -36.42+ 0.00

PR
100

TP delay [ns]

TVC(cbch) (1,12,3)

4000
b

3000

2000

1000

AT rnuiLbsre+ud [ 25
po 3894+ 0.0
p1 -34.65+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (1,127

4000

3000

2000

1000

- rnua zzze+04 | 25
pO 3903+ 0.0
pl -35.77 + 0.00

1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

4000

3000

2000

1000

T 1 nuiL gboe+u4 / 25
pO 3927+ 0.0
p1 -34.92 + 0.00

1
100

TP delay [ns]

TVC(cbch) (1,12,15

4000

3000

2000

1000

TinuaiLyrie+ud /25
PO 3903+ 0.0
p1 -35.45+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,13,0)

X~ 1 g ss0e+U4 [ 25
P po 3894+ 0.0
- pl -37.78+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 13 4

-z 103e+04 / 25
. pO 3919+ 0.0
- p1 -35.49+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1,13,8

- 25ze+04 1 25
k. po 3910+ 0.0
- p1 -34.49 £ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 13 12

- 1 nuiz zgoe+u4 [ 25
F.. po 3948+ 0.0
- p1 -36.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,1)

- C =26.88 [ps ]

A1 nugozze+ud [ 25
- po 3899+ 0.0
- p1 -37.2+ 0.0

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (1, 13 5

Snan2.23e+04 1 25
. pO 3929+ 0.0
- pl -35.85+ 0.00

TP delay [ns]

TVCEbeh)=( 1, 13,9

~ 1 nug.zzye+u4 [ 25
- pO 3965 + 0.0
p1 -34,99 £ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 13 13

Tinu zsle+ud [ 25
= pO 3948+ 0.0
- p1 -37.17+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

2000

1000

4000

3000
2000

1000

0

4000

2000

1000

TVC(CbCh) (1,13,2)

X~ 1 15/e+04 [ 25
- po 3900+ 0.0
[ = p1 -37.08+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 13 6

T, 174e+04 | 25
P pO 3933+ 0.0
: - pl -36.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 13 10

- i 1s4e+U4 | 25

= pO 3963+ 0.0
-

: p1 -36.62:+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 13 14)

_ - iz 116e+04 [ 25
=5 pD 3937+ 0.0
[ "=

[ pl -36.4+ 0.0

3000

F C = 27.48 [ps/c 1

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,3)

A~ 1 nug BUBe+U4 | 25
3 po 3926+ 0.0
- pL -36.57+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 13 7

S nu 1/ e+u4 /25
. pO 3937+ 0.0
- p1 -36.63+ 0.00

TP delay [ns]

TVC(eheh)=(1, 13, 11

~ 1 nuiz.a48e+04 / 25
- pO 3960+ 0.0
p1 -36.17 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 13 15

Tinuzzsse+ud [ 25

- pO 3949+ 0.0
-

p1 -37.33+ 0.00

TP delay [ns]



4000
b

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000
k=

3000

2000

1000

TVC(CbCh) (1, 14 0)

T rnuiLplze+u4 [ 25
pO 3895+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (1,144

[C=27.70 [ps/C ]

- 1L y4ne+u4 / 25
pO 3880+ 0.0
pl -36.1+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (1,14,8

Tnug.zge+u4 [ 25
PD 3897+ 0.0
p1 -33.44 + 0.00

1
100

TP delay [ns]

TVC(cbch) (1,14,12

Tz 103e+04 / 25
PO 3954+ 0.0
pl -37.18+ 0.00

PR
100

TP delay [ns]

TVC(cbch) (1,14,1

2000 Py /4)49+u4/25

I- po 3894+ 0.0

- pL -36.4% 0.0
3000 7]
2000 ]
00 C = 27.47 [pS/ n

0, =% s

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c, bch) (1,14,5

~1nu153e+04 / 25
pO 3882+ 0.0
pl -37.42 % 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

T nu.use+ud [ 25
DO 3908+ 0.0
pl -35.33+ 0.00

1
100

TP delay [ns]

TVC(cbch) (114,13

T nuzusse+ud / 25
pO 3943+ 0.0
pl -37.67+ 0.00

TP delay [ns]

4000

ke
3000
2000

1000

3000
2000

1000

4000

3000

2000

1000

0

4000

k=
3000
2000

1000

TVC(CbCh) (1,14,2)

X~ 1wy roe+ud [ 25
po 3908+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (1,146

-1z 140e+04 / 25
pO 3872+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(e b eh)=( 1, 14,10

- C = 28.49 [ps/c .

- i, 119e+U4 ] 25
DO 3934+ 0.0
pl -35.1+ 0.0

1
100

TP delay [ns]

TVC(cbch) (114,14

~nuizusse+ud | 25
PD 3954+ 0.0
pl -37.27+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000
b

3000

2000

1000

TVC(cbch) (1,14,3)

AT rnuiLyloe+ud /25
po 3922+ 0.0
pl -37.35+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (1,14,7

-1 nuz.0a4e+04 [ 25
pO 3898+ 0.0
p1 -36.47 + 0.00

1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

-1 nuiz.ugbe+ud / 25
pO 3929+ 0.0
p1 -34.54 + 0,00

1
100

TP delay [ns]

TVC(cbch) (1,14,15

T inuizyrae+ud [ 25
PO 3951+ 0.0
p1 -36.85+ 0.00

TP delay [ns]



TVC(CbCh) (1, 15 0)

4000
ke

3000

2000

1000

T rnuizul4e+ud [ 25
pO 3890+ 0.0
pl -38.25+ 0.00

TP delay [ns]

TVC(cbch) (1,154

4000 F

3000

2000

1000

T 3z2ze+04 | 25
pO 3922+ 0.0
pl -36.75+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

4000

3000

2000

1000

[ C=28.17 [ps/c ]

a2 yooe+u4 | 25
PD 3933+ 0.0
p1 -35.5+ 0.0

%

1
100

TP delay [ns]

TVC(cbch) (1,15,12

4000

3000

2000

1000

1 nuiz.49pe+u4 / 25
PO 3939+ 0.0
pl -35.65+ 0.00

PR
100

TP delay [ns]

TVC(cbch) (1,15,1)

4000
b

3000

2000

1000

A~ nui10/e+U4 [ 25
po 3898+ 0.0
pl -37.56 + 0.00

TP delay [ns]

TVC(cbch) (1,155

4000 F

3000

2000

1000

-1 nuz.4ple+u4 / 25
pO 3928+ 0.0
pl -36.48 + 0.00

1(;0
TP delay [ns]

TVC(c, bch) (1, 15 9

4000

3000

2000

1000

T nuy.glye+ud / 25
DO 3956+ 0.0
pl -36.62 + 0.00

1
100

TP delay [ns]

TVC(cbch) (115,13

4000 F

3000

2000

1000

T nuzbioe+ud [ 25
PO 3935+ 0.0
pl -35.69+ 0.00

PR
100

TP delay [ns]

4000

ke
3000
2000

1000

4000

3000
2000

1000

4000

e,
3000
2000

1000

4000

.
3000
2000

1000

TVC(cbch) (1,15, 2

X~ 1wz zg1e+U4 /25
po 3911+ 0.0
p1 -38.47 + 0.00

TP delay [ns]

TVC(cbch) (1,156

T a2 zZbe+u4 [ 25
pO 3937+ 0.0
pl -35.57 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (1, 15 10

T 1nug.1zpe+u4 / 25
DO 3964+ 0.0
p1 -37.42+ 0.00

0

TP delay [ns]

TVC(cbch) (1,15, 14

1 nuiz.408e+04 / 25
pD 3948+ 0.0
pl -35.02+ 0.00

PR
100

TP delay [ns]

TVC(cbch) (1,15,3)

4000
b

3000

2000

1000

R 1 sbae+ud | 25
po 3912+ 0.0
pL -37.09+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (1,157

4000 F

3000

2000

1000

-1 nui yyze+u4 / 25
pO 3938+ 0.0
pl -35.57 + 0.00

1(;0
TP delay [ns]

TVC(eh.ch)=(1, 15, 11

4000 £

3000 -

2000 -

woof C = 27.33 [ps/c ]

~ 1 nuiz gyze+u4 [ 25
pO 3988+ 0.0
pl -36.6 + 0.0

1
100

TP delay [ns]

TVC(cbch) (1,15,15

4000 F
b

3000

2000

1000

T nuiz syze+ud [ 25
pO 3943+ 0.0
p1 -35.49+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,0,0

A7 1 nui goye+ud / 25
P po 3894+ 0.0
- pl -37.86+ 0.00

TP delay [ns]

TVC(cbch) (2,0,4

[ C=28.57[ps/c ]

- rnuiL4z1e+05 / 25
P pO 3905+ 0.0
" pl -35+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2 0,8

T nuz11ze+u4 / 25
F pD 3897+ 0.0
" pl -35.24 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,0,12

~1nuz suve+ud | 25

P pO 3920+ 0.0
-

pl -34.59 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,01

AT 1 nuLyyse+ud [ 25
- po 3910+ 0.0
- pl -37.69 + 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

- 1nui 3u/e+u5 / 25
P pO 3909+ 0.0
" pl -34.66 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 0,9

Tinan 4.04e+04 1 25
P pO 3902+ 0.0
" pl -36.07 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,0,13

T nuiz 1bve+ud / 25

- pO 3926+ 0.0
-

pl -35.89+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (2,0,2)

K™ 1 nuiLyzye+ud /25
P po 3911+ 0.0
[ p1 -36.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (20,6

© 1 nuiL0g/e+U5 / 25
" pO 3919+ 0.0
[ = pl -35.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 0 10

- C = 27.32 [ps/& .

T 3p4e+u4 /25
- DO 3925+ 0.0
| "
[ pl -36.6 + 0.0

3000

1
50 100

TP delay [ns]

TVC(cbch) (2,0,14

T 1rnuiz4uie+ud [ 25

- PD 3927+ 0.0
L -

[ pl -35.32+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3

AT rnuiLyzre+ud [ 25
- po 3906 + 0.0
- p1 -36.52+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

S nun 1 ze+U5 /25

3 pO 3925+ 0.0
-

Pl -34.85% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, O

ERALEVX bdbe+l}4/25

b po 3936+ 0.0
-

pl -36.37 + 0.00

TP delay [ns]

TVC(C, bch) (2,0,15

Tonaz1/e+ud |25

P pO 3918+ 0.0
-

p1 -34.78 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,1,0)

A7 1 nuis 1ooe+U4 / 24
- po 3886+ 0.0
- p1 -40.52 + 0.00

TP delay [ns]

TVC(cbch) (21,4

Trnazz/e+04 /25
- pO 3885+ 0.0
“ pl -35.54 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

Trnug.Ur1e+u4 /25
P pO 3910+ 0.0
" pl -37.06 + 0.00

TP delay [ns]

TVC(cbch) (21,12

Tz go3e+u4 [ 25
P pO 3915+ 0.0
- pl -35.19+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1

AT 1 nug.n43e+U4 [ 25
- po 3891+ 0.0
- pl -39.3+ 0.0

TP delay [ns]

TVC(c,b ch) (2 1,5

-1 219e+04 | 25
- pO 3897+ 0.0
" pl -35.9.+ 0.0

[C=27.85][ps/Cc 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 1

- - 1 1ub.boge+u4 / 25
Fom pO 3935+ 0.0
- pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (21,13

- T 1 nuiz suse+ud 25
P pO 3924+ 0.0
- pl -36.72+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (2,1,2)

AT 1nuisa4/e+04 /25
- po 3906+ 0.0
: - pl -38.1+ 0.0

3000

TP delay [ns]

TVC(cbch) (21,6

T rnu z2.39e+04 [ 25
. pO 3901+ 0.0
[ = pl -36.02 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2 1, 10

- C =27.70 [ps/c .

T nuig.zive+ud | 25
- po 3944+ 0.0
[ e
[ pl -36.1+ 0.0

3000

1
50 100

TP delay [ns]

TVC(cbch) (21,14

T zose+ud /25
- pD 3920+ 0.0
: - pl -36.48 + 0.00

3000

TP delay [ns]

4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3

AT 1 nuis.bose+ud [ 25
. po 3914+ 0.0
- pl -38.13+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

- nu b33e+u4 / 25
k. pO 3901+ 0.0
“ pl -35.94 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 1

T, //4e+u4/25

- pO 3943+ 0.0
-

pl -36.83+ 0.00

TP delay [ns]

TVC(cbch) (21,15

T nuiz vzye+ud [ 25
F. PO 3906+ 0.0
- p1 -36.13+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000
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4000
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2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,2,0

A7 1 nuz usye+ud / 25
M po 3884+ 0.0
= pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (2,24

- i B3ge+u4 / 25
- pO 3888+ 0.0
" pl -37.51+ 0.00

TP delay [ns]

TVC(ebch)=(2,2,8

T rnuzysge+u4 | 25
F pD 3897+ 0.0
- pl -35.46 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,212

T, (33e+04 /25
P pO 3929+ 0.0
- pl -37.35+ 0.00

TP delay [ns]

4000
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1

AT 1L ysze+ud [ 25
- po 3887+ 0.0
- p1 -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (2 2,5

-1 nuz.Us3e+ud / 25
- pO 3882+ 0.0
" pl -36.42 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 2

~ 1 nuiy gsoe+ud 25

b po 3939+ 0.0
-

pl -35.74 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,213

- nun z.43e+u4 | 25

P pO 3921+ 0.0
-

p1 -36.47 + 0.00

TP delay [ns]
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1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (2,2,2)

K71 nuig zyae+04 [ 25
- po 3888+ 0.0
[ = p1 -36.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (22,6

T rnu 2. zze+04 [ 25
- pO 3890+ 0.0
[ = pl -37.28+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(2,2, 10

T 1nuig,3yze+u4 | 25
- DO 3928+ 0.0
| "
[ pl -36.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,214

- C = 26.88 [ps/ .

~ 1z 5Ee+u4 [ 25
- pD 3921+ 0.0
: - pl -37.2+ 0.0

3000

PR SR T
50 100

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3

AT 1 nuiz,$o4e+U4 [ 25
- po 3893+ 0.0
- pl -37.83+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

-1 nuz.0z3e+u4 / 25
- pO 3894+ 0.0
- p1 -37.17+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

AR bu4e+u4/25
F- po 3926+ 0.0
pl -35.61+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,215

T 1nuiz.azoe+ud [ 25

.. pO 3925+ 0.0
-

p1 -35.95+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

- pO

T roe+ud /25
- 3901+ 0.0
- p1 -36.9+ 0.0

rC=27.10 [ps/ ]

1
50 100

TP delay [ns]

TVC(cbch) (23,4

- 151e+04/ 25
- pO 3005+ 0.0
- p1 -36.81+ 0.00

TP delay [ns]

TVC(cbch) (2 3,8

T rnugpole+ud [ 25
P pO 3918+ 0.0
- pl -37.26+ 0.00

TP delay [ns]

TVC(cbch) (2,312

- T rnuiz.z4ve+u4 | 25
E.. po 3939+ 0.0

-
pl -35.04 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

A~ 1L 744e+U4 [ 25
- po 3911+ 0.0
- p1l -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

“rnu 1ble+ud / 25
- pO 3901+ 0.0
" pl -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

~ i nui g1oe+ud [ 25
k. pO 3945+ 0.0
- pl -37.82+ 0.00

TP delay [ns]

TVC(C, bch) (2,313

- T 1 nuiz syse+ud | 25
3938+ 0.0
-35.01+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

3000
2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (2,3,2)

AT 1 nuis41e+04 /25
- po 3909+ 0.0
[ = p1 -36.42+ 0.00

TP delay [ns]

TVC(cbch) (23,6

- rnu 103e+04 / 25
- pO 3920+ 0.0
[ = pl -36.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (2, 3 10

- Trnuzyrie+ud [ 25
Fu_ po 3968+ 0.0
[ pl -36.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,3 14

1z z4pe+04 | 25
k. po 3938+ 0.0
[ e
r pl -34.95+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

AT LB e+ud [ 25
- po 3909+ 0.0
", pl -36.12+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

-1 nu Zae+u4 [ 25

- pO 3905+ 0.0
-

Pl -35.32 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 3

ERALEVX baze+u4/25
F-_ po 3960 + 0.0
pl -36.15+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,315

T nuiz zgve+ud [ 25

.. pO 3929+ 0.0
-

p1 -36.23+ 0.00

P B S S
50 100

TP delay [ns]



4000
e

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,4,0)

A~ 1 nui ouae+ud 25
3914+ 0.0
-35.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (24,4

© 1 nu,0bse+ud / 25
P pO 3911+ 0.0
- pl -36.08 + 0.00

TP delay [ns]

TVC(ebch)=(2,4,8

-1 nu 543e+04 [ 25
- pD 3926+ 0.0
- pl -38.59 + 0.00

TP delay [ns]

TVC(cbch) (2,4,12

- 1 i y30e+u4 [ 25

- po 3957+ 0.0
-

p1 -34.85+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,1)

AT 1 nuiLYose+u4 / 25
- po 3903+ 0.0
- pl -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (2 4,5

S nuz 11ze+04 [ 25
. pO 3920+ 0.0
- p1 -36.13+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (24,9

T nan s yge+ud [ 25

3 pO 3949+ 0.0
-

p1 -37.62+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

_ -1 nuz.uzoe+u4 [ 25
b pO 3938+ 0.0

-
p1 -35.29+ 0.00

P R T
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,4,2)

X~ 1L Brse+u4 [ 25
- po 3904+ 0.0
[ = p1 -35.57+ 0.00

3000

TP delay [ns]

TVC(cbch) (24,6

- rnuz1y1e+u4 / 25
. pO 3923+ 0.0
[ p1 -37.06 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 4, 10

- s izerud ] 25
= pO 3966+ 0.0
[ "
_ pL -37.49 + 0.00

3000

0

TP delay [ns]

TVC(Cbch) (2, 4 14

- 1.9verud /25
= pD 3941% 0.0
[“w
r pl -35.37 + 0.00

3000

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,3)

I C=27.32[ps/ ]

A~ 1 nuiz.0use+ud | 25
- po 3918+ 0.0
- pL -36.6 + 0.0

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 4,7

S nuZ3e+u4 /25
. pO 3924+ 0.0
- p1 -36.56+ 0.00

TP delay [ns]

TVC(c,b ch) (2,4,

T, 449e+u4/25

) pO 3968 + 0.0
-

p1 -37.84+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 4 15

-1 nui yyse+ud [ 25

- pO 3946 + 0.0
-

p1 -35.29 + 0.00

PR IR T
50 100

TP delay [ns]



TVC(cbch) (2,5,0)

4000 FF

3000

2000

1000

A7 1 nui osye+ud / 25
P po 3917+ 0.0
-, pl -36.08 + 0.00

4000

TP delay [ns]

TVC(cbch) (2,54

3000

2000

1000

-1z, ryge+ud | 25
- pO 3885+ 0.0
" pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (2 5,8

4000 F

3000

2000

1000

g, 1uze+u4 / 25
"~ pO 3927+ 0.0
- p1 -34.72+ 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (2,5,12

4000 F

3000

2000

1000

1 nuiLpobe+u4 / 25

- po 3942+ 0.0
-

pl -35.09 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51)

A1 Ui Buae+u4 [ 25
- po 3914+ 0.0
- pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

- Inu.az5e+04 | 25
- pO 3891+ 0.0
", pl -37.24+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

<1 nu.4nbe+u4 [ 25
- DO 3951+ 0.0
p1 -34.71+ 0.00

TP delay [ns]

TVC(C, bch) (2,5,13

- T 1 nuiz.zove+ud | 25
Fu_ pO 3957+ 0.0
pl -34.24 + 0.00

TP delay [ns]

TVC(cbch) (2,5,2)

4000
3000
2000

1000

X~ 1w 11ze+u4 [ 25
P po 3917+ 0.0
: -, pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (2,56

4000
3000
2000

1000

-1 bloe+ud [ 25
|- pO 3903+ 0.0
[ ™ pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (2, 5 10

4000 F
3000
2000

1000

T nuig143e+04 / 25
Fu_ po 3960+ 0.0
[ pl -35.22+ 0.00

0

TP delay [ns]

TVC(cbch) (2,514

4000

3000
2000

1000

Tz 1ze+04 /25

b, pD 3956 0.0
-

F pl -35.17 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

AT rnuzuyse+ud [ 25
P po 3916+ 0.0
-, pl -37.01+ 0.00

TP delay [ns]

TVC(c,b,ch)= (2 57

[ C=27.47 [ps/C ]

. - 1nu.44ze+04 [ 25
- pO 3909+ 0.0
" pl -36.4 + 0.0

50 1(;0
TP delay [ns]

TVC(eh.oh)=(2,5, 11

[ C=28.82[ps/c ]

~ 1 nuiz 15ye+u4 / 25
- pO 3970+ 0.0
p1 -34.7 + 0.0

1 1
50 100

TP delay [ns]

TVC(cbch) (2,5,15

-1 nuiz19ye+ud / 25

- PO 3945+ 0.0
-

p1 -34.92 + 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (2,6,0)

4000
b

3000

2000

1000

K™ 1nuz419e+04 /25
3905+ 0.0
-35.51+ 0.00

TP delay [ns]

TVC(cbch) (26,4

4000

3000

2000 [~

1000 [~

- Sebe+04 [ 25
. pO 3961+ 0.0
" pl -36.3+ 0.0

C =27.55[psl/c ]

50 10‘0
TP delay [ns]

TVC(cbch) (2 6,8

4000 =

3000

2000

1000

Tz /e+u4 /25

- PD 3958+ 0.0
-

p1 -34.94 + 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (2,6,12

4000 =

3000

2000

1000

T 1 ooe+ud /25

- pO 3954+ 0.0
-

pl -33.07 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1)

AT 1 nuSo/e+ud [ 25
P po 3912+ 0.0
" pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 nuz.0yse+u4 / 25
i pO 3974£ 0.0
" pl -35.06 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

T gble+u4 / 25
Feu pO 3968+ 0.0
" pl -35.89 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,6,13

— T osse+u4 / 25
e pO 3942+ 0.0

-
pl -34.82:+ 0.00

PR SRS S
50 100

TP delay [ns]

TVC(cbch) (2,6,2)

4000
3000
2000

1000

AT 1nug z1se+04 /25
P po 3915+ 0.0
: ", pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (26,6

40005
3000 -

2000~

1000~

F C =28.09 [ps/c .

-1 nu boye+u4 [ 25
e pO 3964+ 0.0
F = pl -35.6 + 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

4000

3000
2000

1000

© 1 nuig pzge+u4 | 25

= DO 3988+ 0.0
-

L pl -36.67 + 0.00

0

TP delay [ns]

TVC(cbch) (2,614

4000
3000
2000

1000

— 1 nuiLpyse+u4 / 25
k. pD 3940+ 0.0
F ™ pl -35.43+ 0.00

PR SR T
50 100

TP delay [ns]

TVC(cbch) (2,6,3)

4000

3000

2000

1000

T zzse+ud [ 25
. pO 3925+ 0.0
hy pl -35.82+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

4000

3000

2000

1000

- 1nu 133e+04 / 25
- pO 3972+ 0.0
= pl -35.02+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 6

4000

3000

2000

1000

T, /me+u4/25

- pO 3993+ 0.0
-

pl -36.02+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,6,15

4000

3000

2000

1000

Tonan 1 B3e+ud [ 25
3954+ 0.0
-35.01+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,7,0

rC=27.47 [ps/ ]

A7 1 nuiL gsoe+ud / 25
- PO 3899+ 0.0
- p1 -36.4+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,7,4

-1z zgye+ud | 25
- pO 3898+ 0.0
" pl -35.06 + 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2,7,8

©rnun.urve+u4 | 25
P PD 3917+ 0.0
- pl -35.57 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,7,12

T zo0e+u4 /25

- po 3917+ 0.0
-

pl -36.78+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

T zuse+ud [ 25
- po 3903+ 0.0
- pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

- 1nublye+ud / 25
- pO 3899:£ 0.0
" pl -35.09 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 7

~ 1 nuiL Ugse+us / 25
o po 3934+ 0.0
p1 -34.94 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,7,13

Tonazore+ud [ 25

P pO 3917+ 0.0
-

pl -35.81+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (2,7,2)

A~ nuig zzoe+04 /25
- po 3906+ 0.0
: - pl -37.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,6

T na.azze+04 | 25
" pO 3923+ 0.0
[ = Pl -35.62+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 7, 10

©1nug159e+04 / 25
'- DO 3930+ 0.0
: pl -35.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (27,14

Tz b3se+ud [ 25
b pD 3920+ 0.0
| "
[ pl -36.22+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

T zzye+ud [ 25
P pO 3918+ 0.0
- pl -36.77 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

- 1z bove+ud | 25

- po 3919% 0.0
-

pl -35.53+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 7

T aze+u4/25
o2 po 3947+ 0.0
pl -35.67 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,7,15

T nuizplse+ud [ 25

- pO 3925+ 0.0
-

p1 -36.63+ 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (2,8,0)

4000

3000

2000

1000

X~ 1L ysze+U4 [ 25
- PO 3922+ 0.0
= Pl -3553%0.00

TP delay [ns]

TVC(cbch) (28,4

4000

3000

2000

1000

[ C =28.65[ps/c ]

-z zgse+u4 | 25
- pO 3941+ 0.0
= pl 349+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2 8,8

4000

3000

2000

1000

T nug szse+u4 [ 25
- pO 3931 0.0
= pl -36.36+ 0.00

%

TP delay [ns]

TVC(cbch) (2,812

4000

3000

2000

1000

~nuzoyse+ud / 25

- PO 3965+ 0.0
-

pl -36.32 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,1)

= X 1L ae+ud | 25
Fu Y 3932+ 0.0
" pL -36.22 % 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

= S rnan 2386404 [ 25
Fe pO 3945+ 0.0
" Pl -34.08+ 0.00

TP delay [ns]

TVC(c,b ch) (2 8,9

= -1 uy.bb4e+u4 [ 25
- pO 3944+ 0.0

-
pl -35.59 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,813

= Tz 3uve+u4 [ 25
e pO 3946 + 0.0

-
pl -36.49 + 0.00

TP delay [ns]

TVC(cbch) (2,8,2)

4000 =
3000
2000

1000

X~ 1wz 1 roe+U4 [ 25
o po 3942+ 0.0
[ = pl 3553+ 0.00

TP delay [ns]

TVC(cbch) (2,86

4000
3000
2000

1000

- 1nu314e+04 / 25

o PO 3959+ 0.0
-

I pl -34.52 + 0.00

TP delay [ns]

TVC(cbch) (2, 8 10

4000
3000
2000

1000

T nuigbrye+ud | 25
[ DO 3965+ 0.0
N pl -35.14 + 0.00

0

TP delay [ns]

TVC(cbch) (2,8 14

4000

3000
2000

1000

T nuzpure+ud [ 25

e PD 3964+ 0.0
[ "

pl -36.39 + 0.00

TP delay [ns]

TVC(cbch) (2,8,3)

4000

3000

2000

1000

AT 1nuiz,129e+U4 [ 25

- PO 3943+ 0.0
)

p1 -34.04 + 0.00

TP delay [ns]

TVC(c,b ch) (2 8,7

4000 F

3000

2000

1000

-1 nu.bule+ud / 25

- PU 3962+ 0.0
-

pl -35.78 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 8

4000 F

3000

2000

1000

"o tu::e+u4/25
- pO 3981+ 0.0
pl -35.97 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,815

4000 F

3000 -

2000 -

1000 [~

T nu s3se+ud [ 25

- PO 3962+ 0.0
-

pl -37.7£ 0.0

C =26.53 [ps/ ]

P BT
50 100

TP delay [ns]



3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,9,0

A7 1 nui suse+ud / 25
- po 3864+ 0.0
-, pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (2,94

Tz l/1e+04 /25
- pO 3891+ 0.0
" pl -37.63+ 0.00

TP delay [ns]

TVC(cbch) (2 9,8

1 nun,3uge+u4 / 25
P PD 3909+ 0.0
- pl -35.77 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,9,12

1 nuiz.49oe+u4 / 25

I pO 3899 0.0
-

pl -36.79+ 0.00

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

A” 1 nuLyoze+ud [ 25
- po 3862+ 0.0
- pl -37.48 + 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

=1 U byye+ud [ 25
M pO 3891+ 0.0
" pl -38.29 + 0.00

TP delay [ns]

TVC(c,b ch) (2 9,9

-1 nuiL 3uYe+us / 25

- po 3925+ 0.0
-

p1 -35.49 £ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,9,13

T inuzsive+ud [ 25

- pO 3898+ 0.0
-

pl -36.26 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

2000

1000

TVC(cbch) (2,9,2)

K™ 1nui rsoe+u4 /25
- po 3886+ 0.0
: " pl -35.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (29,6

- rnuz.418e+04 [ 25
b pO 3901+ 0.0
[ = pl -36.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 9 10

©1nug b3ve+u4 | 25
Fu_ po 3945+ 0.0
: pl -35.53+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

000 ~ 1z 3use+ud | 25
I PD 3900+ 0.0

)
[ pl -37.24+ 0.00

3000

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

3000

2000

1000

TVC(cbch) (2,9,3)

AT 1 nuzuzze+ud | 25
- po 3871+ 0.0
" pl -35.08+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

- 1nu.484e+04 25
k. po 3914+ 0.0
- pl -38.27+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 9

[ C=27.70 [ps/c ]

T, u/5e+u4/25
F- po 3937+ 0.0
p1 -36.1+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (2,9,15

00 T nuiz zove+ud [ 25
o PO 3901+ 0.0

-
p1 -36.48 + 0.00

P B S S
50 100

TP delay [ns]
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TVC(CbCh) (2, 10 0)

T r31e+04 /25
- pO 3868+ 0.0
- p1 -36.12+ 0.00

1
50 100

TP delay [ns]

TVC(Cbch) (2, 10 4

-1 i Bo4e+ud / 25
- pO 3904+ 0.0
- p1 -35.32:+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,10,8

-1 nug o rye+ud [ 25
P pO 3918+ 0.0
- pl -36.47 + 0.00

0

TP delay [ns]

TVC(Cbch) (2, 10 12

1 nuizzyze+04 [ 25

- po 3943+ 0.0
-

p1 -35.78+ 0.00

L n n n n 1 n
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R- 1 uiLb] re+Ud [ 25
- po 3879+ 0.0
- pl -34.91+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 5

-1 nui yg3e+u4d / 25
P pO 3910+ 0.0
" pl -34.62+ 0.00

50 150
TP delay [ns]

TVC(ebeh)=(2, 10,9

~ 1 nuiLusbe+us / 25

- pO 3947+ 0.0
-

p1 -35.79+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 10 13

T nu s48e+u4 | 25

F.. po 3932+ 0.0
-

pl -36.56 + 0.00

TP delay [ns]
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TVC(CbCh) (2,10,2)

X~ 1 L gope+u4 / 25
po 3887+ 0.0
p1 -36.97 £ 0.00

TP delay [ns]

TVC(Cbch) (2, 10 6

T rnuzu/1e+u4 [ 25
pO 3930 0.0
p1 -36.16 + 0.00

10‘0
TP delay [ns]

TVC(e,beh)=(2, 10, 10

1000

- 1w, 115e+04 1 25
pO 3971+ 0.0
pL -36.77 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (2, 10 14

1000

1 zy5e+u4 [ 25
pD 3939+ 0.0
pl -35.83+ 0.00
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S Tyz3/25
pO 3896+ 0.1
pL -36.32. 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (2, 10 7

- nug 19ze+04 / 25
pO 3928+ 0.0
p1 -36.01% 0.00

1
100

TP delay [ns]

TVC(ehch)=(2, 10, 11

T nuiz szye+u4 [ 25
pO 3968 + 0.0
p1 -37.68+ 0.00

TP delay [ns]

TVC(cbch) (2, 10 15

T nuiz 1g3e+ud [ 25
pO 3943+ 0.0
p1 -34.74+ 0.00

PR
100

TP delay [ns]
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A7 1 nuiz.uove+ud / 25
- po 3881+ 0.0
- pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (2,11,4

T i, rz9e+04 [ 25
- pO 3899+ 0.0
" pl -34.94+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 11,8

T 3.30e+u4 / 25
F pD 3908+ 0.0
- pl -36.81+ 0.00

TP delay [ns]

TVC(cbch) (2,11, 12

X~ 1wz 184e+04 [ 25

' po 3939+ 0.0
-

pl -35.63+ 0.00

PR RS SR B
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TVC(Cbch) (2,11,1)
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P po 3891+ 0.0
- pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (2,11,5

-1 nuz.usze+u4 [ 25
- pO 3898+ 0.0
" pl -35.85+ 0.00

TP delay [ns]

TVC(eh.eh)=(2, 11, 9

~ 1 naiyysze+ud [ 25

- po 3933+ 0.0
-

pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (2,11,13)

Tonanzage+ud [ 25

- PO 3940+ 0.0
-

pl -35.47 + 0.00
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- pO 3899+ 0.0
[= p1 -36.46 + 0.00

TP delay [ns]

TVC(cbch) (2,11,6

-1 nuz,usge+ud [ 25
- pO 3905+ 0.0
[ = pl -36.03+ 0.00

TP delay [ns]

TVC(ebch)=(2, 11, 10

X 1nuig z31e+04 [ 25
F-_ po 3952+ 0.0
[ pl -35.11 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,11, 14

X~ 1 nuizuze+ud | 25
P po 3941+ 0.0
: " pl -36.39+ 0.00
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", pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (2,11,7

=1 Ui ygbe+u4 / 25
. po 3916+ 0.0
" pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (2, 11 11

T nuiz.azae+u4 [ 25
F-_ po 3937+ 0.0
pl -35.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (211,15

Tinuiziy/e+ud [ 25

b po 3939+ 0.0
-

p1 -35.93+ 0.00

P B S S
50 100

TP delay [ns]
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- pl -37.38+ 0.00

TP delay [ns]

TVC(cbch) (2,124

[ C=27.47 [ps/C ]

- rnaz204e+04 [ 25
- pO 3919+ 0.0
" pl -36.4+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

T 1nuig.yloe+ud / 25
P PD 3912+ 0.0
- pl -34.95+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (212,12

- 1 nuz5upe+04 / 25
. po 3946+ 0.0

-
p1 -36.3+ 0.0

[ C=27.55[ps/c ]
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- po 3890+ 0.0
- pl -38.34+ 0.00

TP delay [ns]

TVC(cbch) (2,125

- 1nuz243e+04 [ 25
- pO 3926+ 0.0
" pl -36.81+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 12

<1 nuiL ybze+us / 25

- po 3931+ 0.0
-

p1 -35.84 £ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (212,13

- 1 nuiz.zyae+ud [ 25
= PO 3938+ 0.0

-
p1 -35+ 0.0

I C =28.57 [ps/c ]
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-1 nuz 104e+04 [ 25
P pO 3932+ 0.0
[ = pl -36.76:+ 0.00
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F-_ po 3943+ 0.0
[ pl -35.22+ 0.00
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TVC(c, bch) (2,12,7

1 nuz.a0/e+u4 | 25
- pO 3955+ 0.0
" pl -37.73+ 0.00

TP delay [ns]

TVC(cbch) (2, 12 11

T nuzg33e+u4 [ 25
F-_ po 3946+ 0.0
pl -35.27 + 0.00

1
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TP delay [ns]

TVC(cbch) (212,15

T inuiz 148e+04 / 25

- PO 3941+ 0.0
-

p1 -35.27 + 0.00

P B S S
50 100

TP delay [ns]
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-1 nuiLyoye+ud / 24
- pO 3907+ 0.0
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TP delay [ns]

TVC(cbch) (2, 13 8

T rnuiLyroe+u4 [ 25
P PD 3905+ 0.0
- pl -36.15+ 0.00
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TP delay [ns]

TVC(cbch) (213,12

T r/e+ud /25
P pO 3925+ 0.0
- pl -36.85+ 0.00
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-1 nu.4gle+u4d / 25
DU 3915+ 0.0
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p1 -34.97 + 0.00
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-1 b94e+04 [ 25
PO 3925+ 0.0
pl -39.81+ 0.00
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TP delay [ns]

TVC(cbch) (2,13,10

1 nuzpoye+ud | 25
po 3945+ 0.0
pl -35.53+ 0.00

1
100

TP delay [ns]

TVC(cbch) (2,13, 14

T rzre+u4 [ 25
PD 3929+ 0.0
pl -36.09 + 0.00
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100

TP delay [ns]
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4000

3000

2000

1000

- z.ate+ud ] 25
pO 3938+ 0.0
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oo C = 27.94 [ps/c ]

T nui gove+ud [ 25
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p1 -35.8+ 0.0

P B S S
50 100
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TVC(cbch) (2,144

-z z05e+04 / 25
- pO 3876+ 0.0
" pl -37.04 + 0.00

TP delay [ns]

TVC(cbch) (2, 14 8

1 nug.zyge+u4 | 25
P PD 3915+ 0.0
- pl -37.62+ 0.00
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Tz, 135e+04 / 25
P pO 3916+ 0.0
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TVC(c, bch) (2,145

- 1 353e+U4 [ 25
- pO 3901+ 0.0
", pl -37.47+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

T inaiz1be+u4 [ 25
k.. po 3940+ 0.0
" pl -37.53 + 0.00

TP delay [ns]

TVC(cbch) (214,13

T 1 nuizvove+ud / 25
- pO 3905+ 0.0
- pl -37.27+ 0.00

TP delay [ns]
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e po 3879+ 0.0
: - pl -35.95+ 0.00
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TVC(cbch) (2,146

-1 nuz,ugse+ud [ 25
- pO 3912+ 0.0
[ = pl -36.71+ 0.00
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TP delay [ns]

TVC(ebeh)=(2, 14,10

0

T g18e+u4 /25
k. po 3951+ 0.0
L -
b p1 -37.42+ 0.00
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AT 1L byze+ud [ 25
- po 3893+ 0.0
- pl -34.91+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,7

-1 nuz 204e+04 / 25
F. po 3912+ 0.0
" pl -36.25 + 0.00

TP delay [ns]

TVC(cbch) (2, 14 11

T nuiz.oy/e+ud [ 25

k. po 3952+ 0.0
-

pl -37.76 + 0.00

TP delay [ns]

TVC(cbch) (2,14,15

T nu s33e+ud [ 25

- pO 3914+ 0.0
-

p1 -36.05+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,15,0

© g zgse+u4 | 25
pO 3877+ 0.0
pl -35.85+ 0.00
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TVC(cbch) (2,154

Tz z13e+04 [ 25
pO 3893+ 0.0
pl -35.85+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

T, ryge+u4 | 25
PD 3905+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(cbch) (2,15,12

Tz zyze+u4 | 25
pO 3925+ 0.0
pl -35.47 + 0.00
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po 3890+ 0.0
pl -35.72+ 0.00

1
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TP delay [ns]

TVC(cbch) (2,155

-1 nu 184e+04 / 25
pO 3898+ 0.0
pl -34.85+ 0.00

1(;0
TP delay [ns]

TVC(ebeh)=(2 15,9

T nuiL1s1e+U5/ 25
pO 3937+ 0.0
p1 -36.26 + 0.00

1
100

TP delay [ns]

TVC(cbch) (215,13

T nuizuzse+ud | 25
PO 3918+ 0.0
pl -35.06 + 0.00
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100
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po 3894+ 0.0
pl -35.77 + 0.00
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TVC(cbch) (2,156

- 1nuz.419e+04 [ 25
pO 3901+ 0.0
pl -36.05 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (2, 15 10

0

©1nug.a83e+04 / 25
DO 3954+ 0.0
p1 -37.64 + 0.00

TP delay [ns]

TVC(cbch) (2,15, 14

Tz zipe+u4 | 25
PD 3929+ 0.0
pl -35.58 + 0.00

PR
100

TP delay [ns]

TVC(cbch) (2,15,3)
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ke
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lo00r C = 27.93 [ps/c ]
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po 3901+ 0.0
p1 358+ 0.0

1
100

TP delay [ns]
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-1 nuiz.yuoe+ud / 25
PO 3934+ 0.0
pl -33.44+ 0.00
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100

TP delay [ns]
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TVC(cbch) (3,0,0)

A7 1nug 1sze+04 /25
- po 3887+ 0.0
- pl -38.29+ 0.00

TP delay [ns]

TVC(cbch) (3,0,4

-1z baze+ud | 24
- pO 3903+ 0.0
- p1 -37.79:+ 0.00

TP delay [ns]

TVC(cbch) (3 0,8

[C=29.24 [ps/c ]

TrnuE.4/0e+04 /24

[Mo PD 3886+ 0.0
-

p1 342+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,0,12

- T i 1ove+u4 / 24
k. po 3944+ 0.0

-
pl -35.86 + 0.00

PR RS SR B
50 100

TP delay [ns]
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AT 1z 1bse+ud [ 25
- po 3870+ 0.0
- pl -36.82+ 0.00

TP delay [ns]

TVC(c,b,ch)= (3 0,5

. “1nu (4pe+04 [ 24
- pO 3902+ 0.0
- p1 -36.9% 0.0

C=27.10 [ps/ 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 0,9

T nuy.u4se+ud [ 24

P pO 3923+ 0.0
-

p1 -34.9+ 0.0

[ C =28.66 [ps/c 7

1
50 100

TP delay [ns]

TVC(cbch) (3,0,13

Tinuzaroe+ud [ 24

Fae pO 3927+ 0.0
-

pl -35.92+ 0.00
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3000

TP delay [ns]

TVC(cbch) (3,06

T a2, gyse+ud [ 24
. pO 3914+ 0.0
[ = pl -38.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 0 10

T nuigz4ve+u4 [ 24
-- DO 3919+ 0.0
: pl -34.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,0,14

Tz soe+u4 [ 24

» po 3933+ 0.0
L -

[ pl -36.35+ 0.00
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TVC(c,b ch) (3 0,7

© U 8abe+U4 [ 24
. pO 3922+ 0.0
-38.2+ 0.0

TP delay [ns]

TVC(c,b ch) (3, O

Tz ::::e+u4/24
'- pO 3920+ 0.0
p1 -34.98 £ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,0,15

[ C =28.66 [ps/c ]

T inuiz 1oye+ud [ 24
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- P 3929+ 0.0
p1 -34.9+ 0.0

P B S S
50 100

TP delay [ns]



TVC(cbch) (3,1,0

3000

2000

1000

A7 1 nui gsoe+ud [ 24
- po 3870+ 0.0
- p1 -37.35+ 0.00

TP delay [ns]

TVC(cbch) (31,4

4000

3000

2000

1000

T 3z3e+04 [ 24
- pO 3900 0.0
- p1 -36.27:+ 0.00

TP delay [ns]

TVC(c,b,ch)= (3 1,8

4000

3000

2000

1000

[ C=28.09 [ps/c ]

T T, rope+u4 | 24
F pD 3896+ 0.0
- p1 -35.6 + 0.0

%

1
50 100

TP delay [ns]

TVC(Cbch) (3, l 12

4000

3000

2000

1000

[ C =28.65 [ps/c ]

T rnuzbo1e+u4 /24

P pO 3925+ 0.0
-

p1 -34.9+ 0.0

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1

x- 1 iz, 1vae+ud | 24
- po 3880+ 0.0
- pL -37.19+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

- InuAz(e+04 [ 24
- pO 3894+ 0.0
" pl -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

T nay szze+u4 [ 24
[ DO 3896+ 0.0
- pl -36.4 + 0.0

rC=27.47 [ps/ ]

1
50 100

TP delay [ns]

TVC(c,b Ch) (3, l 13

T nuiz.ouze+ud 24
P pO 3916+ 0.0
- pl -36.93+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,1,2)

AT 1nug s10e+04 /24
b po 3879+ 0.0
[= p1 -36.42+ 0.00

3000

TP delay [ns]

TVC(cbch) (31,6

T z.46e+04 / 24
. pO 3906+ 0.0
: " pl -36.42 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

T nug1zoe+u4 [ 24
-- DO 3905+ 0.0
[ pl -35.18 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

Tz gose+ud [ 24
- pD 3912+ 0.0
-
[ pl -35.89+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

A1 nuiz4z4e+04 | 24
- po 3901+ 0.0
- p1 -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

- a2 rse+ud [ 24
- po 3914+ 0.0
- pl -36.85+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

EALER 91=e+u4/24

[ pO 3912+ 0.0
-

p1 -36.45 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 1 15

T inuiz syve+ud [/ 24

b 0
- p 3925+ 0.0
p1 -35.45 + 0.00

P B S S
50 100

TP delay [ns]



3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

A7 nun ozse+ud [ 24
- po 3872+ 0.0
- p1 -35.88 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,24

T 31/e+04 /24
- pO 3881+ 0.0
- p1 -35.78:+ 0.00

TP delay [ns]

TVC(cbch) (3 2,8

Tz 1yse+u4 | 24
- PD 3924+ 0.0
- pl -35.88+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,212

T L yzve+u4 [ 24
P PO 3930+ 0.0
-, pl -35.68 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1

AT rnuLoie+ud [ 24
- po 3884+ 0.0
- p1 -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

- 1. Ozoe+04 [ 24
- pO 3895+ 0.0
- pl -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

T nuia30e+u4 24
e po 3932+ 0.0
" pl -36.64 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 2 13

Tinuizu4se+ud [ 24

P pO 3928+ 0.0
-

p1 -36+ 0.0

C=27.78 [ps/c ]

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,2,2)

AT 1nuiLorze+V4 /24
™ po 3883+ 0.0
[ = p1 -37.7+ 0.0

3000

TP delay [ns]

TVC(cbch) (32,6

- rnuz 295e+04 [ 24
- pO 3898+ 0.0
[ = pl -36.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 2 10

0

T nuigploe+ud / 24
b, po 3957+ 0.0
[
[ p1 -38.44 + 0.00

3000

TP delay [ns]

TVC(Cbch) (3, 2 14

T zule+ud /24
P pD 3924+ 0.0
: ", pl -35.57 + 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

AT rnuiLysre+ud [ 24
- po 3886+ 0.0
- pl -37.41% 0.00

TP delay [ns]

TVC(c,b,ch)= (3 2,7

[ C=27.77 [ps/c ]

. “nu lble+ud / 24
- pO 3908+ 0.0
- p1 -36:+ 0.0

50 1(;0
TP delay [ns]

TVC(ehoh)=(3,2, 1

[ C =26.66 [ps/ ]

T nu sgbe+ud 24

- pO 3958+ 0.0
-

p1 -37.5+ 0.0

1 1
50 100

TP delay [ns]

TVC(cbch) (3,215

T inuiy4ye+ud [ 24

- PO 3939+ 0.0
-

p1 -35.52+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,3,0

AT 1nuiolse+ud /24
P po 3891+ 0.0
- p1 -35.96 + 0.00

TP delay [ns]

TVC(cbch) (3,34

- i b49e+04 [ 24
. pO 39251+ 0.0
" pl -34.46 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

T rnuz1uve+u4 [ 24
= po 3918+ 0.0
- pl -35.46 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,312

T L gEoe+u4 / 24

. pO 3932+ 0.0
-

pl -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,31

AT 1 nuiLbvye+ud [ 24
P po 3892+ 0.0
- p1 -36.78+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

S nuibrye+ud [ 24
Y pO 3928+ 0.0
" pl -35.59 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

T inu. 745e+04 [ 24

- po 3931+ 0.0
-

p1 -34.96 £ 0.00

1
50 100

TP delay [ns]

TVC(c,b Ch) (3, 3 13

Tinuiorae+ud [ 24

- PO 3933+ 0.0
-

pl -36.22+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,3,2)

AT 1nui ryze+04 [ 24
P po 3913+ 0.0
[ = p1 -36.23+ 0.00

TP delay [ns]

TVC(cbch) (33,6

— ©1nuiLgbae+U4 | 24
3 pO 3935+ 0.0
: " pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (3, 3 10

Trnugur4e+ud [ 24
Fu_ po 3953+ 0.0
: pl -35.85+ 0.00

TP delay [ns]

TVC(Cbch) (3, 3 14

T Lyoe+ud /24
- pD 3917+ 0.0
: - pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,33

AT 1L rooe+ud [ 24
- po 3924+ 0.0
- p1 -34.79+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

Snun r4ze+04 [ 24

' pO 3960+ 0.0
)

pl -34.83+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 3

EEALEVX uuue+u4/24
F- po 3945+ 0.0
pl -36.92 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3 15

Tinai srae+ud [ 24

- PO 3934+ 0.0
-

p1 -36.72+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,4,0

AT 1nuiL yise+ud [ 24
. po 3887+ 0.0
- p1 -36.96 + 0.00

TP delay [ns]

TVC(cbch) (34,4

— T i b3le+ud / 24
L pO 3027+ 0.0
- p1 -36.32:+ 0.00

TP delay [ns]

TVC(cbch) (3 4,8

Trnuig.4s1e+u4 [ 24
k.. pO 3924 0.0
", pl -34.57 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,4,12

Tz sgoe+u4 | 24
P PO 3932+ 0.0
-, pl -36.75+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,1

AT 1L yose+ud [ 24
- po 3888+ 0.0
- p1 -36.49+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

T nun /43e+04 [ 24
- pO 3926+ 0.0
" pl -36.98 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 4,9

T onai710e+u4 24
F-. po 3939+ 0.0
pl -35.14+ 0.00

1
50 100

TP delay [ns]

TVC(c,b Ch) (3, 4 13

Tinuz sroe+ud [ 24
- pO 3912+ 0.0
- pl -37.57+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,4,2)

AT nun ssse+u4 [ 24
P po 3888+ 0.0
[= p1 -36.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

=iz Ozze+04 [ 24
F pO 3929+ 0.0
: " pl -37.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

T nuzglze+u4 [ 24
-- DO 3941+ 0.0
: pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,4,14

©1nuz s9oe+ud [ 24
- pD 3915+ 0.0
-
[ pl -37.16 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT rnuiLsble+ud [ 24
P po 3898+ 0.0
- p1 -37.12+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

-1 nui Y4pe+u4 [ 24
3 pO 3948+ 0.0
- p1 -36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

T, 1uue+u4/24
Fu p0 3954+ 0.0
pl -35.22+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 4 15

Tnuiz4ze+ud [ 24

P pO 3924+ 0.0
-

p1 -36.39+ 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (3,5,0)

4000
b

3000

2000

1000

A7 nun suze+ud [ 24
3907+ 0.0
-35.51+ 0.00

TP delay [ns]

TVC(cbch) (3,54

4000 F

3000

2000

1000

S i1 8Be+u4 [ 24
- pO 3919+ 0.0
" pl -35.63 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 58

4000 =

3000

2000

1000

T 1nug.byse+u4 [ 24
- PD 3948+ 0.0
- pl -35.23+ 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (3,5,12

4000

3000

2000

1000

Tz syze+u4 | 24

- PO 3990+ 0.0
-

pl -36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

- AT 1 nuLBsoe+ud [ 24
o po 3929+ 0.0
- p1 36+ 0.0

C=27.78 [ps/c ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 55

T i gyze+u4 [ 24
P pO 3914+ 0.0
" pl -34.95+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

— T inuiL 1b3e+us / 24
Flan DO 3974+ 0.0

-
pl -35.62 + 0.00

1
50 100

TP delay [ns]

TVC(c,b Ch) (3, 5 13

— Tonaz31e+ud [ 24
P pO 3975+ 0.0

-
pl -37.04 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,5,2)

AT inuirore+u4 /24
b po 3932+ 0.0
[ p1 -36.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

T, z4ge+04 | 24
F pO 3921+ 0.0
L -
N pl -34.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 5 10

T nug.uzae+ud [ 24
F=. DO 3992+ 0.0
L pl -35.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,5,14

Tz 1zse+u4 [ 24

. pD 3975+ 0.0
-

L p1 -37.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,5,3)

4000

3000

2000

1000

AT rnuzouze+ud [ 24
- po 3941+ 0.0
- p1 -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

4000 F

3000

2000

1000

-1 nu 3bbe+u4d / 24

- pO 3933+ 0.0
-

Pl -34.62% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

4000

3000

2000

1000

ERALEVX b/‘Je+U4/24
- po 3997+ 0.0
pl -35.29 + 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 5 15

4000

3000

2000

1000

..ll

Tinuizuzie+ud [ 24
PO 3986+ 0.0
p1 -37.18+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0)

[ C =29.07 [ps/c ]

T L4se+ud /24
P pO 3890+ 0.0
- p1 -34.4+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (36,4

T rnuiLbl/e+ud /24
- pO 3934+ 0.0
" pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (3 6,8

T nuigbuze+u4 [ 24
P po 3924+ 0.0
- pl -36.83+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,6,12

T L p3e+u4 / 24

- po 3928+ 0.0
-

pl -35.41+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,1

A1 Saaerud | 24
- po 3898+ 0.0
- pL -34.88 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

— “nui fole+u4d [ 24
F. pO 3943+ 0.0
- p1 -37.8+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 6,9

~ 1 nup. byse+u4 24
F-_ po 3954+ 0.0
pl -36.49 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,6,13

T nuiL pove+ud / 24

- po 3933+ 0.0
-

p1 -36.2+ 0.0

C=27.62[ps/c ]

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,6,2)

AT 1nuiLolse+ud /24
P po 3909+ 0.0
[ = p1 -35.53+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

T i ru3e+ud [ 24
- po 3950+ 0.0
M= pl -37.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

T nuz zovbe+ud [ 24
Fu_ po 3955+ 0.0
: pl -35.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,6,14

T, rsse+u4 [ 24
P pD 3941+ 0.0
: - pl -36.79+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1 nuiLsyve+ud [ 24
.. po 3903+ 0.0
- p1 -34.86 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

i g/ze+ua [ 24
. pO 3945+ 0.0
" pl -38.17 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 6

T, 1s/e+u4/24
P p0 3958+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

Tonan g ve+ud [ 24

P pO 3942+ 0.0
-

p1 -35.89+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

AT inuiLorse+ud /24
- po 3902+ 0.0
- p1 -35.44 + 0.00

TP delay [ns]

TVC(cbch) (3,7,

© i b3ve+ud / 24
. pO 3908+ 0.0
- p1 -35.74+ 0.00

TP delay [ns]

TVC(cbch) (3 7,8

T zboe+ud [ 24
=l PD 3903+ 0.0
- pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

T rnuiLyose+ud / 24
'- PO 3935+ 0.0
pl -34.97 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,1)

AT 1w u/e+ud [ 24
P po 3908+ 0.0
- p1 -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

- nui Buse+u4 / 24
- pO 3903+ 0.0
-, p1 -35.03+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T nuy.zuse+u4 [ 24

- po 3934+ 0.0
-

pl -36.83 + 0.00

1
50 100

TP delay [ns]

TVC(c,b Ch) (3, 7 13

Tinuigyle+ud [ 24

= PO 3916+ 0.0
-

pl -35.27 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,7,2)

AT 1nunLsrze+04 /24
P po 3915+ 0.0
[ p1 -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

- LY rse+v4 | 24
- pO 30913+ 0.0
[ = pl -36.15 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 7 10

T nuig, 1bbe+u4 / 24
F-_ po 3947+ 0.0
: pl -37.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (37,14

TrnuiLgse+ud [ 24
- pD 3922+ 0.0
| "
[ pl -34.67 + 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT rnuiLrzie+ud [ 24
- po 3920+ 0.0
- p1 -35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

T g3/e+u4 [ 24

. pO 3928+ 0.0
-

pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

T s/e+u4/24
F- po 3945+ 0.0
pl -37.26 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 7 15

TinuiLyloe+ud / 24

. pO 3920+ 0.0
-

p1 -35.69+ 0.00

P B S S
50 100

TP delay [ns]



4000
b

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,80

T Lyre+ud /24
3907+ 0.0
-37.61+ 0.00

1
100

TP delay [ns]

TVC(cbch) (38,4

— - rnuiLy14e+u4 / 24
L pO 3027+ 0.0
- p1 -35.50+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 8,8

T 3.00e+U4 /24
= po 3930+ 0.0
- pl -38.53+ 0.00

TP delay [ns]

TVC(cbch) (3,812

T L, rsoe+u4 [ 24

k.. po 3935+ 0.0
-

p1 -36.42:+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT rnuanrzie+ud [ 24
- po 3901+ 0.0
- pl -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

T LBy e+u4 [ 24
P pO 3916+ 0.0
" pl -35.42 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 8,9

T nu. 1g8e+ud / 24

b po 3951+ 0.0
-

pl -37.86 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 8 13

Tinuizulze+ud [ 24

- po 3932+ 0.0
-

pl -36.33+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,8,2)

T Love+ud /24
P DO 3900+ 0.0
[ = p1 -36.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

i 256404/ 24
P pO 3923+ 0.0
: " pl -35.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

T 1nuig.uoye+ud / 24
k. po 3955+ 0.0
L -
b p1 -38.24 + 0.00

3000

0

TP delay [ns]

TVC(cbch) (3,814

T rnuizusoe+ud [ 24
k. pD 3928+ 0.0
: ", pl -36.61+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1z uzse+ud [ 24
P po 3920+ 0.0
- p1 -37.39+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

S nug 1zve+04 [ 24

- pO 3937+ 0.0
-

pl -36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 8

ERALEVX bz::e+u4/24
F- po 3958+ 0.0
pl -38.36 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 8 15

T inui yzoe+ud [ 24

' pO 3944+ 0.0
-

p1 -35.95+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,9,0)

X~ 1w base+U4 [ 24
- PO 3918+ 0.0
= pl -35.73 0.00

TP delay [ns]

TVC(cbch) (39,4

T, rz3e+04 [ 24
- pO 3916+ 0.0
= pl -35.17:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 9,8

T 1z4e+04 [ 24
- PD 3925+ 0.0
" Pl 35124000

1
50 100

TP delay [ns]

TVC(cbch) (3,9,12

T, 18se+u4 [ 24

- PO 3965+ 0.0
-

pl -36.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,1)

AT 1 nuiLbyse+u4 | 24
- PO 3931+ 0.0
" pL -36.24 £ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,5

S nun 2.8ge+ud [ 24
Fou pO 3915+ 0.0
“ pL -36.23+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 9,9

T nuy. 1obe+ud [ 24

[Fom DO 3932+ 0.0
-

pl -35.68 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,9,13

= T yzse+u4 [ 24
o pO 3942+ 0.0

-
pl -36.92 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,9,2)

X~ 1L suve+U4 [ 24
- PO 3932+ 0.0
[~ pl 3599+ 0.00

3000

TP delay [ns]

TVC(cbch) (39,6

Tz b3be+u4 [ 24
Fu pO 3931+ 0.0
[~ pl -36.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 9 10

T, rs8e+U4 [ 24
(™ DO 3958+ 0.0
[ Pl -35.09% 0.00

3000

TP delay [ns]

TVC(cbch) (3,9,14

T rnuizulse+ud /24
- PD 3939+ 0.0
[ = Pl -38.05:0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3)

AT 1 nuiLBo0e+U4 / 24
- po 3937+ 0.0
= pl_ -35.14% 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

-1 nu bbze+ud [ 24

- PO 3948+ 0.0
-

pL -35.23+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 9

T nu bzue+u4/24
'- pO 3956+ 0.0
pl -36.16 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,9,15

T ssse+ud | 24

- pO 3939+ 0.0
-

pl -37.18+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

T rnuLosze+U4 [ 24
o po 3911+ 0.0
- p1 -37.15+ 0.00

TP delay [ns]

TVC(Cbch) (3, 10 4

T 187e+04 /24
- pO 3898+ 0.0
- p1 -36.96+ 0.00

TP delay [ns]

TVC(cbch) (3, 10 8

— T rnuz4p1e+u4 /24
P PD 3942+ 0.0
- p1 -37.14+ 0.00

TP delay [ns]

TVC(Cbch) (3, 10 12

— ~rnuizyose+ud [ 24
[ po 3942+ 0.0

-
pl -35.14 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,10,1)

A~ 1w rope+ud | 24
- po 3904 + 0.0
- p1 -38.12+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 10 5

= rnuzu3se+ud [ 24
P pO 3905+ 0.0
" pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 10

— ~ b, gU4e+U4 [ 24
- po 3958+ 0.0
" pl -36.83 + 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 10 13

— TinuiLyzie+ud /24
e pO 3947+ 0.0

-
pl -34.47 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (3,10,2)

A7 1 nuiLyoze+ud [ 24
- po 3907+ 0.0
[ = p1 -37.6+ 0.0

TP delay [ns]

TVC(Cbch) (3, 10 6

TnuiLg/3e+u4 / 24
F pO 3918+ 0.0
: " pl -36.79 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,10, 10

— 'IIIUIJH(e+U4/24
be.. 3967+ 0.0
: -37.31% 0.00

TP delay [ns]

TVC(CbCh) (3, 10 14

— ~rnuizgude+ud [ 24
E pD 3942+ 0.0
[

pl -35.35+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (3,10,3

[ C=27.62 [ps/c ]

AT 1L yoze+ud [ 24
. po 3919+ 0.0
- p1 -36.2+ 0.0

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (3, 10 7

= 1 nuiLyode+ud | 24
P pO 3916+ 0.0
" pl -38.15+ 0.00

TP delay [ns]

TVC(cbch) (3, 10 11

Tinuz gl /e+ud [ 24
P po 3974+ 0.0
pl -36.16 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3, 10 15

TnaiL g ze+ud [ 24

F. pO 3928+ 0.0
-

p1 -35.76 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3,11,0)

A /'Ullble+u4/24
- po 3879+ 0.0
- p1 -36.96 + 0.00

TP delay [ns]

TVC(cbch) (3, 11 4

-1, 185e+04 | 24
[ pO 3875+ 0.0
" pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (3, 11 8

— T 1nu gobe+u4 [ 24
b po 3933+ 0.0
- pl -36.67 + 0.00

TP delay [ns]

TVC(c,b Ch) (3 11,12

X~ 1 nuizuyoe+u4d [ 24

P po 3922+ 0.0
-

p1 -35.6+ 0.0

[ C =28.09 [ps/c ]

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (3,11,1)

A™ 1L ysye+ud | 24
P po 3893+ 0.0
- p1 -35.88+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 11 5

T U 3b3e+u4 [ 24
- pO 3897+ 0.0
335+ 0.0

TP delay [ns]

TVC(eh.eh)=(3, 11, 9

[C=27.32][ps/C 7]

TinuiLuy/e+us /24

b pO 3949+ 0.0
-

pl -36.6 £ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 11 13

Tinuizyrve+ud [ 24

P pO 3909+ 0.0
-

pl -35.28 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (3,11, 2)

K™ 1 nuiLgole+ud /24
. po 3886+ 0.0
[ = p1 -36.54 + 0.00

TP delay [ns]

TVC(chh) (3, 11 6

T 1nu.485e+04 | 24
- pO 3907+ 0.0
: " pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (3,11, 10

AT 1B Y3 /e+u4 [ 24
Fu_ po 3955+ 0.0
: p1 -34.74 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 11 14

T Ly ge+ud [ 24
] PD 3907+ 0.0
| "
[ pl -34.78 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,11,3)

AT rnuzusze+ud [ 24
- po 3894+ 0.0
- p1 -36.13+ 0.00

TP delay [ns]

TVC(CbCh) (3, 11 7

~1nu.z4ye+u4 [ 24

[ PU 3897+ 0.0
-

pl -34.67 + 0.00

50 1(;0
TP delay [ns]

TVC(Ebeh=(3, 11, 11

T nuiz byve+ud 24
- pO 3959+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 11 15

[ C=28.33[ps/c ]

Tinuizyrve+ud [ 24

b pO 3913+ 0.0
-

p1 -35.3+ 0.0

P B S S
50 100

TP delay [ns]



TVC(cbch) (4,0,0)

4000

3000

2000

1000

AT 1nuis4/e+04 /25
- PO 3905+ 0.0
- pl -36.59 = 0.00

1
50 100

TP delay [ns]

TVC(cbch) (40,4

4000 F

3000

2000

1000

- 35ze+04 [ 25
" pO 39251+ 0.0
“ pl -36.05 + 0.00

TP delay [ns]

TVC(cbch) (4 0,8

4000 F

3000

2000

1000

T rnuzzole+u4 | 25
- PD 3926+ 0.0
- pl -36.92+ 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (4,0,12

4000 F
-

3000

2000

1000

T g, sove+ud / 25
3939+ 0.0
-35.71+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,1)

AT 1 nuLyzoe+ud [ 25
P po 3908+ 0.0
- pl -36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (4 0,5

-1 nu 349e+04 [ 25
- pO 3932+ 0.0
" pl -36.99 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4,0,9

— X™ 1 nub.0r3e+u4 / 25
e po 3953+ 0.0
- pl -37.24 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (4,0,13

T nus.pble+ud / 25
3935+ 0.0
-36.01+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (4,0,2)

A7 nun ssse+u4 / 25
= po 3921% 0.0
: ", pl -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,0,6

- rnuz391e+u4 / 25
F. pO 3946+ 0.0
- p1 -36.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 0 10

T nuizygle+ud | 25
Fu_ po 3965+ 0.0
: p1 -35.48  0.00

3000

TP delay [ns]

TVC(cbch) (4,0,14

T rnuig.430e+u4 / 25
- po 3932+ 0.0
: ", pl -35.93+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,3)

AT 1L Bsse+u4 [ 25
- po 3929+ 0.0
" pl -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (4 0,7

Snun zbze+04 [ 25
. pO 3944+ 0.0
" pl -36.64 + 0.00

TP delay [ns]

TVC(c,b ch) (4, O

T za4e+u4/25
- pO 3967+ 0.0
pl -36.62 + 0.00

TP delay [ns]

TVC(C, bch) (4,0,15

1 nuiz syve+ud [ 25

- PO 3943+ 0.0
-

p1 -35.78 + 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (4,1,0)

4000

3000

2000

1000

A7 1 nui oose+ud [ 25
- PO 3904+ 0.0
- pl -36.64 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4.1,4

4000

3000

2000

1000

- rnuzuz1e+ud / 25
P pO 3909+ 0.0
“ pl -34.76 + 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(4, 1,8

4000 =

3000

2000

1000

1 nuiz5yve+u4 | 25
- PD 3937+ 0.0
- pl -36.13+ 0.00

%

TP delay [ns]

TVC(cbch) (41,12

4000 F

3000

2000

1000

T rnuizusve+ud | 25

' pO 3931+ 0.0
-

pl -34.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,1)

AT 1L ryse+ud [ 25
P po 3908+ 0.0
- pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,5

=1 Ui Yooe+u4 / 25

- pO 3923+ 0.0
-

pl -34.05+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,9

— T b, 1p3e+u4 / 25
o pO 3945+ 0.0
" pl -36.53+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (41,13

— T 1z, usbe+u4 [ 25
e pO 3942+ 0.0

-
pl -34.83+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (4,1,2)

A~ inuigr1e+04 /25
F po 3924+ 0.0
: ", pl -36.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (41,6

- rnuz 19se+04 [ 25

. po 3935+ 0.0
-

3 pl -32.78+ 0.00

3000

TP delay [ns]

TVC(cbch) (41,10

T nug.13pe+u4 / 25
Fa_ po 3965+ 0.0
: pl -35.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (41,14

Trnuiz14/e+04 /25

- PD 3929+ 0.0
[ e

r pl -34.15+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,3

AT rnuiLsble+ud [ 25
- po 3927+ 0.0
" pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,7

-1 nu 1bYe+u4 / 25

- pO 3934+ 0.0
-

Pl -33.07:0.00

TP delay [ns]

TVC(c,b ch) (4, 1

1)
T nuiz ryze+u4 [ 25
- pO 3954+ 0.0
-
pl -36.12+ 0.00

TP delay [ns]

TVC(C, bch) (41,15

1 nuiz.u4ye+ud [ 25

P pO 3929+ 0.0
-

p1 -34.67 + 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (4,2,0

4000

3000

2000

1000

AT 1nuiLsrve+u4 /25
- po 3880+ 0.0
- pl -36.49 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,24

4000

3000

2000

1000

T zuze+ud | 25
- pO 3902+ 0.0
- p1 -36.68:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (42,8

4000

3000

2000

1000

T rnug.b34e+04 / 25
P pD 3904+ 0.0
- pl -35.77 + 0.00

%

4000

TP delay [ns]

TVC(cbch) (4,212

3000

2000

1000

1 nuiz,ugoe+ud / 25

k. po 3916+ 0.0
-

pl -37.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,1

AT rnuiL g roe+ud [ 25
- po 3879+ 0.0
- pl -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,5

S nug 1zze+04 /25
- pO 3901+ 0.0
" pl -35.98 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 2,9

T inayys/e+ud [ 25
F- po 3932+ 0.0
pl -36.37 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (4,213

T inuizus/e+ud [ 25

[ PO 3909+ 0.0
-

pl -36.38 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (4,2,2)

AT 1nuLsrse+u4 /25
- po 3887+ 0.0
: -, pl -36.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,2,6

- rnuz 19se+04 [ 25
- pO 3906+ 0.0
[ ™ pl -36.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,210

1 nuzgobe+u4 | 25
o DO 3944+ 0.0
: pl -36.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,214

T rnuiLyse+u4 [ 25
- pD 3916+ 0.0
| e
[ pl -36.24 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,3

AT rnuiLszie+u4 [ 25
- po 3902+ 0.0
-, pl -36.98+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,7

-1 nui Yole+ud / 25

- pO 3920+ 0.0
-

Pl -36.27: 0.00

TP delay [ns]

TVC(c,b ch) (4, 2

T g u4e+u4/25
F-_ po 3947+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(C, bch) (4,215

T inan 1 yoe+ud [ 25

= PO 3916+ 0.0
-

p1 -35.57 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,0

AT 1 nussuie+ud /25
- po 3882+ 0.0
- p1 353+ 0.0

C =28.33 [ps/c ]

1
50 100

TP delay [ns]

TVC(cbch) (4,34

- 1 nurLyuyve+ud / 25
- pO 3886+ 0.0
" pl -36.47 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 3,8

T 4.pe+u4 /25
P pO 3914+ 0.0
" pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (4,312

- rnuizalie+ud [ 25
P pO 3925+ 0.0
- pl -37.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,31

AT 1 nug.ogoe+ud [ 25
- po 3878+ 0.0
- pl -35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,5

“ 1 nuz.0rge+u4 / 25
M pO 3886+ 0.0
" pl -37.06 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,9

T nuiL1z3e+U5 / 25

P pO 3923+ 0.0
-

p1 -36.9 + 0.0

[C=27.10 [ps/ 7

1
50 100

TP delay [ns]

TVC(C, bch) (4,3,13

T nuiz 1oye+ud / 25
- pO 3914+ 0.0
- pl -37.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (4,3,2)

AT 1 nusorse+ud /25
- po 3891+ 0.0
[= p1 -36.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,3,6

- rnunLyzze+u4 | 25
F pO 3916+ 0.0
[ ™ pl -37.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 3 10

0

© 1 nuigbu4e+u4 [ 25
- DO 3931+ 0.0
| "
[ pl -37.37 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,3 14

Tz 1o/e+04 /25
. pD 3917+ 0.0
: - pl -37.58 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,3

AT 1 nus.obse+ud [ 25
k. po 3903+ 0.0
" pl -34.97 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,7

- rnu.lrze+04 |25
F. pO 3916+ 0.0
“ pl -36.22+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 3

ERALEVX b/ée+l]4/25

b p0 3946+ 0.0
-

pl -36.67 + 0.00

TP delay [ns]

TVC(C, bch) (43,15

T inuizu4/e+u4 /25
P pO 3927+ 0.0
- p1 -37.48 + 0.00

P BT S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cb.ch)=(4, 4,0)

T T rnuaLsi4e+U4 [ 25
- pO 3878+ 0.0
-, pl -35.9+ 0.0

[ C=27.86 [ps/c ]

1
50 100

TP delay [ns]

TVC(cbch) (44,4

S Z1/e+04/ 25
k. pO 3896+ 0.0
" pl -37.2+ 0.0

C=26.88[ps ]

50 10‘0
TP delay [ns]

TVC(c,b ch) (4 4,8

- T 1nuz.ysse+u4 | 25
P pO 3925+ 0.0
" pl -37.99 + 0.00

TP delay [ns]

TVC(cbch) (44,12

1z, 15ve+u4 | 25

P pO 3927+ 0.0
-

pl -35.09 + 0.00

PR RS SR B
50 100

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,1)

AT 1 nuz.usse+ud [ 25
- po 3873+ 0.0
- pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,5

- 11U 3u0e+u4 / 25
P pO 3903+ 0.0
" pl -38.11 + 0.00

TP delay [ns]

TVC(c,b ch) (4 4,9

— T inuiLUs/e+us / 25
. pO 3950+ 0.0
- pl -36.56 + 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (4,4,13

- Tz 15e+u4 [ 25
o pO 3935+ 0.0

-
pl -35.74 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (4,4,2

K™ 1nuiLyrse+ud /25
- po 3904+ 0.0
: ", pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (44,6

T 33e+04 [ 25
- pO 3904+ 0.0
[ = pl -38.02 + 0.00

3000

TP delay [ns]

TVC(cbch) (44,10

© 1 nug.uyve+ud | 25
b po 3958+ 0.0
[
_ p1 -36.48  0.00

3000

TP delay [ns]

TVC(cbch) (4,4,14

T rnuizuzie+u4 | 25
e pD 3935+ 0.0
[ e
r pl -34.75+ 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,3

AT rnuiLyyre+ud [ 25
- po 3902+ 0.0
-, pl -36.81+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,7

S rnan 2b4e+04 [ 25
- pO 3908+ 0.0
- p1 -37.05+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 4

1)
T nu r33e+04 / 25
- p0 3954+ 0.0
-
pl -37.75+ 0.00

TP delay [ns]

TVC(C, bch) (44,15

T nuiyuse+ud / 25

P pO 3929+ 0.0
-

p1 -35.42 + 0.00

P B S S
50 100

TP delay [ns]



4000
ke

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,0)

K™ 1nui rzae+04 | 25
3883+ 0.0
-36.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,54

- 1 nuiLy45e+u4 / 25
- pO 3882+ 0.0
- p1 -37.02:+ 0.00

TP delay [ns]

TVC(cbch) (4 5,8

_ - 1nug, f roe+04 [ 25
P pO 3930+ 0.0
- pl -37.65+ 0.00

TP delay [ns]

TVC(cbch) (4,5,12

_ -1 g41e+04 [ 25
- pO 3937+ 0.0

-
p1 -35.5+ 0.0

C=28.17 [ps/c ]

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,51

AT 1 nuiLBoze+u4 25
k. po 3877+ 0.0
- p1l -38.16 + 0.00

TP delay [ns]

TVC(c,b ch) (4 55

- Z1ye+ud 25
- pO 3885+ 0.0
- pL -37.16 + 0.00

TP delay [ns]

TVC(c,b ch) (4 59

_ T nuia3be+u4 25
- pO 3954+ 0.0
- p1 -37.66 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 5 13

T nuiz.usve+ud / 25
3941+ 0.0
-34.91+ 0.00

P R T
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (4,5,2)

X~ 1L 835e+04 [ 25
- po 3898+ 0.0
[ = p1 -37.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,56

- rnuz0rye+u4 [ 25
|- pO 3903+ 0.0
[ p1 -36.42+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(4, 5, 10

- nuizy01e+04 1 25
- pO 3964+ 0.0
: p1 -37.33 0.00

3000

%

TP delay [ns]

TVC(cbch) (4,5,14

- 1 nuz,uzse+u4 [ 25
- pD 3943+ 0.0
[ "=
[ pl -36.14 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
b,

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,3

A~ 1 nuiLBUbe+U4 | 25
- po 3911+ 0.0
- pL -36.22:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 57

= 1 nuz.Quie+ud / 25
- pO 3908+ 0.0
- pl -36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 5

AL 5Ube+U4/25
3959+ 0.0
-37.31+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (4, 5 15

_ Sz Ll re+ud [ 25
P pO 3940+ 0.0

-
p1 -35.14 + 0.00

PR IR T
50 100

TP delay [ns]



TVC(cbch) (4,6,0)

3000

2000

1000

K™ 1 nui ooze+u4 /25
po 3870+ 0.0
pl -37.86+ 0.00

TP delay [ns]

TVC(cbch) (46,4

4000

3000

2000

1000

T rnu.az9e+04 | 25
pO 3889+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (4 6,8

4000

3000 [~

2000 [~

woor C = 27.55 [ps/c ]

1 nuiLgage+U4 / 25
PD 3918+ 0.0
p1 -36.3+ 0.0

%

1
100

TP delay [ns]

TVC(cbch) (4,6,12

4000

3000

2000

1000

T rnuiLgzve+u4 | 25
PO 3935+ 0.0
pl -36.37 + 0.00

PR
100

TP delay [ns]

4000
ke

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,1)

A1 Ui psae+u4 [ 25
po 3881+ 0.0
pl -38.57+ 0.00

TVC(c,b ch) (4 6,5

TP delay [ns]

-1 nuz.yzye+u4 [ 25
pO 3882+ 0.0
pl -37.34+ 0.00

TVC(c,b ch) (4 6,9

TP delay [ns]

~ 1 nuy.B30e+u4 / 25
DO 3925+ 0.0
pl -36.38 + 0.00

1
100

TP delay [ns]

TVC(C, bch) (4,6,13

T inuiolie+ud / 25
PO 3923+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

ke
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (4,6,2)

A7 1 nuib4ve+ud / 25
po 3893+ 0.0
pl -38.67 + 0.00

TP delay [ns]

TVC(cbch) (4,6,6

- rnu gzee+u4 | 25
pO 3888+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (4, 6 10

© a2 yoze+ud | 25
DO 3938+ 0.0
pl -37.03 + 0.00

1
100

TP delay [ns]

TVC(cbch) (4,6,14

T r1pe+u4 / 25
PD 3916+ 0.0
pl -36.03+ 0.00

PR
100

TP delay [ns]

4000
b

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,3)

AT 1L buse+ud /25
po 3901+ 0.0
pl -38.04+ 0.00

TVC(c,b ch) (4 6,7

TP delay [ns]

-1 nui yyse+ud / 25
pO 3906+ 0.0
pl -36.62 + 0.00

TVC(c,b ch) (4, 6

1(;0
TP delay [ns]

[ C=27.55[ps/c ]

EEALEVX ume+u4/25
po 3947+ 0.0
pl -36.3+ 0.0

1
100

TP delay [ns]

TVC(C, bch) (4,6,15

T nui sloe+ud [ 25
PO 3933+ 0.0
p1 -36.13+ 0.00

PR
100

TP delay [ns]



TVC(cbch) (4,7,0)

4000

3000

2000

1000

T L40e+ud /25
- po 3899+ 0.0
- pl -36.53+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,7,4

4000

3000

2000

1000

- i, 740e+04 / 25
- pO 3906+ 0.0
- p1 -37.24+ 0.00

TP delay [ns]

TVC(eb,ch)=(4, 7,8

4000 F

3000

2000

1000

1 nuzpooe+u4 | 25
- PD 3924+ 0.0
- pl -36.61+ 0.00

%

TP delay [ns]

TVC(cbch) (4,7,12

4000 =

3000~

2000~

1000 f~

1L pyse+u4 / 25

' pO 3954+ 0.0
-

p1 -35.9+ 0.0

C =27.86 [ps/c ]

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,1)

AT rnuiLbrze+ud [ 25
P po 3913+ 0.0
- p1 365+ 0.0

C =27.40 [ps/C ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 7,5

T L/ (5e+U4 [ 25
P pO 3914+ 0.0
" pl -36.47 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 7,9

Tinan b /oe+u4 [ 25

- DO 3955+ 0.0
-

pl -36.62 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (4,7,13

- T 1 goe+u4 / 25
e pO 3954+ 0.0

-
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (4,7,2)

4000
3000
2000

1000

K™ 1 nui nq40e+04 / 25
- po 3905+ 0.0
: ", pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (4,7,6

4000
3000
2000

1000

T i, (bbe+u4 / 25
- pO 3919+ 0.0
[ = pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (47,10

4000 F
b=,
3000

2000

1000

Cnubize+u4 /25
- DO 3956+ 0.0
[ pl -36.17 + 0.00

0

TP delay [ns]

TVC(cbch) (4,7,14

4000 2
3000
2000

1000

T/ roe+04 [ 25

k.. PD 3960+ 0.0
-

F pl -35.62+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,3)

AT 1L r1se+ud [ 25
- po 3924+ 0.0
", pl -36.62+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

-1 nui 83be+u4 / 25

- pO 3939+ 0.0
-

Pl -35.44% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 7

1)
-1 nui ygye+ud / 25
F-_ po 3953+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(C, bch) (4,7,15

T nui guse+ud / 25

- PO 3963+ 0.0
-

p1 -35.45+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,8,0)

X~ 1w ) be+ud /25
e PO 3883+ 0.0
“ pl -36.87 + 0.00

TP delay [ns]

TVC(cbch) (4,84

T b /e+ud [ 25
e pO 3889 0.0
" pl -36.52+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 8,8

TonuLore+ud /25
o pO 3906+ 0.0
= pl -35.15+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,812

~ 1 nuiLo54e+04 / 25

e PO 3912+ 0.0
-

pl -35.41+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,81

AL os U4 | 25
e po 3886+ 0.0
“ pL -36.92:+ 0.00

TP delay [ns]

TVC(c,b ch) (4,8,5

'ynulible+u4/25
Mo Y 3891+ 0.0
“ pL -36.92.+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,9

T nun.y4se+ud [ 25
'- DO 3924+ 0.0
pl -35+ 0.0

[ C=28.57[ps/c 7

1
50 100

TP delay [ns]

TVC(C, bch) (4,813

T ayse+u4 [ 25

e pO 3910+ 0.0
-

pl -35.99 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (4,8,2)

X~ 1L byle+U4 /25
P po 3903+ 0.0
[ = p1 -36.28+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,86

-1 nurg boze+u4 [ 25
P pO 3910+ 0.0
[ ™ pl -36.72:+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 8 10

1 nuzbgve+ud | 25
=" DO 3944+ 0.0
[ pl -35.86 % 0.00

3000

TP delay [ns]

TVC(cbch) (4,814

~ i oo0e+u4 / 25
Fu PD 3909+ 0.0
[ = pl -36.38+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,3

A 1L Boae+ud | 25
- po 3900+ 0.0
" pL -36.88:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,7

-1 nui g1ge+u4d / 25

o pO 3907+ 0.0
-

pL -36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

T nug uU4e+u4/25
'- pO 3941+ 0.0
pl -35.03+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (4,815

T 314e+04 /25

o pO 3916+ 0.0
-

pl -35.08 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,9,0)

A7 1 nui gooe+ud / 25
- po 3928+ 0.0
- pl -36.78 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (49,4

T nu173e+04 / 25
P pO 3913+ 0.0
" pl -36.73+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 9,8

T nuzy4ze+04 | 25
- pD 3929+ 0.0
“ Pl -35.14 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,9,12

©rnuizuzoe+u4 | 25

- po 3947+ 0.0
-

pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,1)

AT 1 nuLyloe+ud [ 25
- po 3925+ 0.0
- pl -36.88 + 0.00

TP delay [ns]

TVC(c,b ch) (4 9,5

~ 1 nui /63e+u4 [ 25
" pO 3926 £ 0.0
" pl -36.17 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 9,9

T inu. r8/e+U4 25
F=_ po 3954+ 0.0
p1 -34,65 + 0.00

TP delay [ns]

TVC(C, bch) (4,9,13

-1 nuiLyuge+ud 25

- PO 3946+ 0.0
-

pl -36.38 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (4,9,2)

AT 1nuiLs/1e+04 /25
F po 3928+ 0.0
: -, pl -37.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,9,6

Tnuz3e+04 /25
P pO 3935+ 0.0
[ = pl -37.57+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 9 10

Tz yge+u4 | 25
= DO 3962+ 0.0
: pl -33.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,9,14

T LBy e+u4 [ 25
Fu_ pD 3947+ 0.0
: pl -34.34+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3)

AT 1 nuiL, 148e+U4 [ 25
- po 3946+ 0.0
- pl -37.36+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,7

- 1nu 1ble+u4 / 25
- pO 3943+ 0.0
" pl -37.44+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 9

Tz, 14e+u4/25
'- pO 3963+ 0.0
p1 -34.68 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (4,9,15

T nai ssze+ud [ 25
- PO 3956+ 0.0
p1 -35.67 + 0.00

P B S S
50 100

TP delay [ns]



3000

2000

1000

4000

3000
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TP delay [ns]

TVC(c, bch) (5,14, 7

-1 U buse+u4 / 25
» pO 3920% 0.0
" pl -35.49 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5,14, 11

Tonan 2 /4e+04 1 25

= pO 3960+ 0.0
-

pl -36.16 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5,14, 15

T 4z5e+04 [ 25

o pO 3941+ 0.0
-

pL -36.05+ 0.00

TP delay [ns]
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Trwizaie+ud /25
3957+ 0.0
-35.01+ 0.00
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TP delay [ns]

TVC(cbch) (5.15,4

T byle+ud / 25
. pO 3911 0.0
- p1 -36.59+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

©1nuzboze+u4 [ 25
P pO 3915+ 0.0
- pl -37.46 + 0.00

TP delay [ns]
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T rnuiz4ure+ud | 25
b pO 3958+ 0.0
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AT 1 nuzayve+ud [ 25
- po 3947+ 0.0
- pl -34.41% 0.00

TP delay [ns]

TVC(cbch) (5,155

= 1nui, 5ze+ud | 25
F pO 3915+ 0.0
" pl -37.19+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

T nu.y4/e+ud [ 25

"~ pO 3939+ 0.0
-

pl -35.86 + 0.00

1
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TP delay [ns]

TVC(cbch) (5.15,13

T nuzoyse+ud [ 25

" pO 3969+ 0.0
-

pl -36.93+ 0.00
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TVC(cbch) (5.15,6

- nuz, gge+ud | 25
PO 3923+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

© g yoze+ud | 25
DO 3959+ 0.0
pl -35.92+ 0.00

1
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TP delay [ns]

TVC(cbch) (5. 15, 14

- C = 27.55 [ps/c .

T rnuiz4s3e+u4 [ 25
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pO 3934+ 0.0
p1 -36.3+ 0.0
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TVC(cbch) (5, 15 1
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4000 F
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T nuiz zoye+ud [ 25
PO 3961+ 0.0
p1 -35.67 + 0.00
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100

TP delay [ns]



TVC(cbch) (6,0,0)
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TVC(cbch) (60,4
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T, roze+04 | 25
- pO 3887+ 0.0
" pl -34.15+ 0.00
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© 1 nug,bgye+ud / 25
[ pO 3878+ 0.0
- p1 -36.13 + 0.00

%
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AT rnuiLbrse+ud [ 25
- po 3871+ 0.0
- pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 nuz.yaye+ud [ 25
- pO 3885+ 0.0
" pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

T 1nuy. Zode+u4 [ 25
[ pO 3893+ 0.0
- pl -36.75+ 0.00

TP delay [ns]

TVC(C, bch) (6,0,13

T nui ssye+ud [ 25
P PO 3906+ 0.0
- pl -35.83+ 0.00
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TP delay [ns]

TVC(cbch) (60,6

- g, 0uYe+ud / 25
. pO 3900+ 0.0
[ = pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

© 1 nu bb3e+u4 / 25
- po 3918+ 0.0
[ = pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

T 1nuizus4e+ud | 25
. DD 3906+ 0.0
| "
X p1 -35.3+ 0.0

- C = 28.33 [ps/c 1
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- po 3889+ 0.0
- pl -35.74+ 0.00

TP delay [ns]

TVC(cbch) (6,0,7

- U 244e+04 [ 25
F. pO 3915+ 0.0
" pl -34.93+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (6, O 11

T nuigolie+ud / 25

. p0 3924+ 0.0
-

pl -35.84 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

T inuiLyy/e+ud [ 25
3915+ 0.0
-36.11 + 0.00

P B S S
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TP delay [ns]
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AT 1nuiLsrae+04 /25
- po 3867+ 0.0
- pl -37.07 + 0.00

TP delay [ns]

TVC(cbch) (6.1,4

T rnuzsu/e+ud [ 25
- pO 3892+ 0.0
" pl -34.41% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 1,8

Tz pbe+u4 [ 25
P PD 3911+ 0.0
-, pl -34.76 + 0.00
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- po 3883+ 0.0
- pl -37.58 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 U bbze+u4 / 25
- pO 3868+ 0.0
" pl -35.43 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 1,9

T nuy. 3ole+ud [ 25
o po 3941+ 0.0
pl -35.01+ 0.00
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TVC(cbch) (61,13

T zsre+u4 | 25

o pO 3897+ 0.0
-

pl -35.66 + 0.00
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-1 nuz Bsye+ud | 25
b pO 3897+ 0.0
[ = pl -36.24 + 0.00
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T nuig1rve+u4 [ 25
F-_ po 3948+ 0.0
[ pl -35.71+ 0.00
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Tz 1roe+u4 [ 25
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: ", pl -35.23+ 0.00
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- po 3883+ 0.0
- pl -37.59+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

-1 nu, [bbe+u4d [ 25
k. pO 3901+ 0.0
" pl -34.94+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, l

T, 1ue+u4/25
- pO 3959+ 0.0
pl -35.72+ 0.00
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TP delay [ns]

TVC(cbch) (6,1,15

T nuiz s3ae+04 / 25
3902+ 0.0
-35.81+ 0.00

P B S S
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T e+l [ 25
3888+ 0.0
-37.61+ 0.00
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TVC(cbch) (62,4

T 1nu,308e+u4 / 25
P pO 3916+ 0.0
" pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (6 2,8

T rnuz431e+04 /25
- PD 3929+ 0.0
- pl -35.18 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,2, 12

iz zuse+u4 | 25

P pO 3921+ 0.0
-

pl -35.08 + 0.00
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P po 3910+ 0.0
- pl -36.23+ 0.00
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TVC(c,b ch) (6 2,5

~ Uz, 01ve+u4 [ 25
P pO 3919+ 0.0
" pl -36.35+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 2,9

— T b.1Ye+u4 / 25
e pO 3956+ 0.0
- pl -37.23+ 0.00
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50 100
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TVC(C, bch) (6,213
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-1 nug 1b5e+04 [ 25
. po 3937+ 0.0
[~ pl -35.94+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 2 10

© 1, rg8e+u4 | 25
b po 3965+ 0.0
[
N pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,2 14

© 1z 1use+u4 / 25

» PD 3930+ 0.0
L -

[ pl -35.54 + 0.00
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- po 3909+ 0.0
", pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

- nu 3ze+u4 / 25
» pO 3948+ 0.0
“ pl -36.41% 0.00

TP delay [ns]

TVC(c,b ch) (6, 2

T, 4UBE+U4/25

- pO 3970+ 0.0
-

pl -36.98 + 0.00

TP delay [ns]

TVC(C, bch) (6,215

T nuiz 1bse+ud [ 25

- PO 3946+ 0.0
-

p1 -35.97 + 0.00

P B S S
50 100

TP delay [ns]
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© 1 nuz,0vee+u4 / 25
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[C=27.62[ps/c ]

Tz rge+u4 | 25
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TP delay [ns]

TVC(c,b ch) (6 3,5

“nu 1z8e+u4 / 25
- pO 3930+ 0.0
" pl -36.62 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 3,9

— T nuip, 110e+U4 / 25
o DO 3958+ 0.0

-
pl -35.64 + 0.00
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TP delay [ns]

TVC(C, bch) (6,313

- T inuizusse+ud [ 25
- pO 3931 0.0
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pl -35.25+ 0.00
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T nuzprse+ud [ 25
= DO 3983+ 0.0
r pl -36.09 + 0.00
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© U 33be+04 / 25
» pO 3950+ 0.0
" pl -35.91# 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 3

AR ba=e+u4/25
- pO 3965+ 0.0
pl -35.89+ 0.00
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50 100

TP delay [ns]

TVC(C, bch) (63,15

Tinuiz1s/e+ud [ 25

» pO 3939+ 0.0
-

p1 -36.58 + 0.00

P B S S
50 100

TP delay [ns]
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AT 1 nuz.zsoe+ud [ 25
- po 3882+ 0.0
- pl -35.66 + 0.00
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TVC(c,b ch) (6 4,5

S nug 1zze+04 /25
- pO 3896+ 0.0
" pl -35% 0.0

[ C=28.57[ps/c 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 4,9

T, r81e+u4 [ 25
b pO 3917+ 0.0
" pl -35.36 + 0.00
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TVC(C, bch) (64,13
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-1 nurL9ype+ud / 25
- pO 3895+ 0.0
[ = pl -35.48 + 0.00
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TP delay [ns]

TVC(c,b ch) (6 4,7

- 1L 884ae+04 25
F. pO 3911+ 0.0
" pl -35.04 + 0.00
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TP delay [ns]

TVC(c,b ch) (6, 4

T, 191e+u4/25
- pO 3945+ 0.0
p1 -34.02+ 0.00
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TVC(C, bch) (64,15

Tanai g roe+ud [ 25
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p1 -34.74+ 0.00

P B S S
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2000

1000

TVC(cbch) (7,3,2)

A7 1nuig izoe+u4 /25
- po 3898+ 0.0
[= p1 -36.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (73,6

-1 nuiLys4e+u4 [ 25
b pO 3893+ 0.0
[ = pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (7, 3 10

T nuig b34e+u4 [ 25
- DO 3922+ 0.0
: - pl -37.29+ 0.00

3000

0

TP delay [ns]

TVC(cbch) (7.3 14

~ 1 nuiLgose+u4 / 25
P DD 3909+ 0.0
: - pl -36.24 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000
k.

3000

2000

1000

TVC(cbch) (7.3,3

AT 1Ly roe+ud [ 25
- po 3896+ 0.0
-, pl -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

-1 nuz.0yse+u4 / 25
k. pO 3901+ 0.0
" pl -35.58 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 3

T, 4zbe+u4/25

- po 3932+ 0.0
-

pl -36.95+ 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

-1 nui yyse+ud [ 25
3922+ 0.0
-36.11 + 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,4,0

K™ 1nui rose+ud /25
P po 3889+ 0.0
-, pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (7.4,4

T B8 /e+u4 [ 25
P pO 3913+ 0.0
“ pl -35.93 + 0.00

TP delay [ns]

TVC(eb.ch)=(7, 4,8

1 nuz.4npe+04 / 25
- PD 3922+ 0.0
- pl -35.11+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,4,12

[ C=27.55[ps/c ]

Tz 5z3e+04 | 25

P pO 3915+ 0.0
-

p1 -36.3+ 0.0

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000
k.

3000

2000

1000

TVC(cbch) (7.4,1

AT 1 nuzzole+ud [ 25
- po 3891+ 0.0
" pl -35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

~nuzUL/e+u4 [ 25
" pO 3918+ 0.0
" pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

T inun p.gbe+u4 [ 25
Fu_ po 3940+ 0.0
pl -35.27 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.4,13

T inu syse+ud | 25
3928+ 0.0
-35.61+ 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (7.4,2)

A7 1 nuiz usoe+u4 / 25
e po 3892+ 0.0
[= p1 -36.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (7.4,6

T rnu131e+04 / 25
- pO 3918+ 0.0
[ = pl -36.92 % 0.00

3000

TP delay [ns]

TVC(ebeh)=(7, 4,10

T nuig,10e+u4 / 25
Fu_ po 3958+ 0.0
: p1 -34.96  0.00

3000

TP delay [ns]

TVC(cbch) (7.4,14

~ 1z gooe+u4 [ 25
- pD 3914+ 0.0
| "
[ pl -35.99+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3

AT 1 nuzusLe+ud [ 25
k. po 3899+ 0.0
"~ pl -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

- 1nu 3z0e+04 / 25
. pO 3924+ 0.0
- p1 37.11 % 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

1)
Tonan2.zz2e+04 1 25
- pO 3958+ 0.0
pl -35.33+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.4,15

Tnaizzize+u4 25
P pO 3925+ 0.0
- p1 -37.25+ 0.00

P IR S T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,5,0

A7 1 nui sose+ud [ 25
- po 3894+ 0.0
"~ pl -35.18+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,54

T i 743e+04 / 25
- pO 3901+ 0.0
" pl -34.73+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

T 1nuiz4o1e+04 / 25
F pD 3901+ 0.0
- pl -36.67 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,5,12

T zze+ud | 25
- PO 3932+ 0.0
- pl -36.73+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51)

T Lyle+ud /25
- po 3898+ 0.0
- pl -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (7 55

-1 nuiy1ze+u4d / 25
P pO 3913+ 0.0
" pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (7 59

~ 1 nu.buse+ud / 25
P DO 3911+ 0.0
- pl -37.04+ 0.00

TP delay [ns]

TVC(C, bch) (7.5,13

- Tz 15ze+u4 [ 25
Fom pO 3932+ 0.0
- pl -36.89+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (7,5,2)

T zaye+ud /25
P pO 3913+ 0.0
: ", pl -36.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

-1 Bsze+u4 [ 25
- pO 3913+ 0.0
[ = pl -35.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (7, 5 10

T 1nug,344e+04 / 25
- po 3932 0.0
[ = pl -36.74+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,5,14

~1nuiz 190e+04 [ 25
P DD 3932+ 0.0
: - pl -37.35+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT 1z 1zve+ud [ 25
. po 3920+ 0.0
hy pl -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (7 57

- rnu 1bze+04 / 25
» pO 3922+ 0.0
" pl -35.52+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 5

T, 4we+u4/25

b po 3938+ 0.0
-

p1 -36.45 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,15

Tinuiz1z/e+u4 /25

- PO 3926+ 0.0
-

p1 -36.09 + 0.00

P B S S
50 100

TP delay [ns]



TVC(cbch) (7,6,0)

4000

3000

2000

1000

A~ 1nuzouse+ud /25
- po 3920+ 0.0
- pl -36.92+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.6,4

4000

3000

2000

1000

Tz bz3e+ud | 25
P pO 3911+ 0.0
" pl -35.59 + 0.00

TP delay [ns]

TVC(cbch) (7 6,8

4000

3000

2000

1000

[C=29.24 [ps/c ]

©1nuzpzye+u4 | 25

P PD 3903+ 0.0
-

p1 342+ 0.0

%

1
50 100

TP delay [ns]

TVC(cbch) (7,6,12

4000

3000

2000

1000

~rnun.uLve+u4 / 25

- po 3927+ 0.0
-

pl -32.59 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1)

X1 nuizdlaerud | 25
3 po 3925+ 0.0
- pL -36.61+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

[ C=27.77 [ps/c 7

-1 U Bo3e+usd / 25
" pO 3926 £ 0.0
" pl -36+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 6,9

~ 1 nui gyae+ud [ 25

"~ pO 3930+ 0.0
-

pl -35.33+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.6,13

— T z.3e+u4 /25
e pO 3939+ 0.0

-
pl -35.56 + 0.00

PR SRS S
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (7,6,2)

A~ 1nuz4r9e+04 /25
P po 3923+ 0.0
: ", pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

- rnug.us3e+ud / 25
b po 3936+ 0.0
[ = pl -36.43+ 0.00

3000

TP delay [ns]

TVC(cbch) (7, 6 10

1 nuig,pobe+u4 / 25
b, po 3949+ 0.0
[ e
N pl -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (7.6,14

— ~1nuiz.493e+04 [ 25
E pD 3943+ 0.0
F ™ pl -36.77 + 0.00

3000

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,3)

R 1 nui5yae+ud | 25
- po 3935+ 0.0
- pL -36.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

- 1 522e+04 | 25
- pO 3946+ 0.0
" pl -36.83 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 6

EALER yzue+u4/25
- pO 3943+ 0.0
pl -35.21+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.6,15

T nuiz v4se+ud [ 25
3942+ 0.0
-35.81+ 0.00

P B S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,7,0)

K71 nuis40e+04 / 25
" po 3916+ 0.0
"~ pl -34.98 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (77,4

- i BB4e+u4 [ 25
P pO 3912+ 0.0
" pl -35.04 + 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7,7,8

T 1nuig.us4e+u4 | 25
- PD 3921+ 0.0
- pl -35.48 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,7,12

T, rs1e+u4 / 25
P PO 3911+ 0.0
- pl -37.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,1)

T/ 1Lyve+ud /25
' pO 3923+ 0.0
" pl -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

“nu.Z3ze+u4 [ 25
P pO 3917+ 0.0
" pl -35.79 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

~ b, 38be+u4 [ 25
b pO 3931+ 0.0
" pl -36.21+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.7,13

T inuzn3se+ud [ 25
P pO 3907+ 0.0
- pl -37.93+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (7,7,2)

T zuze+ud /25
P pO 3925+ 0.0
: " pl -35.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (7.7,6

Trnu1y/e+u4 / 25
P pO 3930+ 0.0
[ = pl -36.46 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(7, 7, 10

T nug 1b1e+u4 / 25
- po 3936+ 0.0
[ = pl -36.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (7.7,14

T nugbo1e+u4 /25
. pD 3913+ 0.0
: - pl -36.97 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

- AT 1L Booe+u4 [ 25
k. po 3928+ 0.0
" pl -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

- - rnu 1bze+04 / 25
k. pO 3936+ 0.0
" pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1)
- -1 nuiz.puze+ud / 25
b po 3950+ 0.0
-
p1 -36.14+ 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

-1 nuiz.qp0e+U4 / 25
P pO 3911+ 0.0
- p1 -37.42+ 0.00

P IS S
50 100

TP delay [ns]



3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,8,0)

K™ 1nuiLoroe+ud /25
- po 3862+ 0.0
- pl -36.22+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,84

- rnuz,u3ze+ud | 25
- pO 3882+ 0.0
" pl -35.86+ 0.00

TP delay [ns]

TVC(cbch) (7 8,8

T nug,z48e+u4 / 25
- po 3903+ 0.0
" Pl -35.34 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,812

T~ rnuiz.zu4e+04 | 25
- pO 3897+ 0.0
- pl -37.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000
b

3000

2000

1000

TVC(cbch) (7,8,1)

AT 1L syoe+ud [ 25
- po 3880+ 0.0
- pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (7 8,5

-1 nuz.0zge+u4 [ 25
- pO 3886+ 0.0
" pl -36.24 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 8,9

Ty, 3/8e+u4 [ 25
- pO 3918+ 0.0
" pl -36.07 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.8,13

T nai ysze+ud [ 25
3896+ 0.0
-38.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(c,b,ch)=(7, 8, 2

- C = 28.09 [ps/c 1

b, )
T AT 1nuLsse+04 /25
o po 3882+ 0.0
[= p1 -35.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (78,6

- C = 27.55 [ps/& .

©1nu.4z4e+04 | 25
P pD 3892+ 0.0
: " pl -36.3+ 0.0

3000

50 10‘0
TP delay [ns]

TVC(cbch) (7, 8 10

T 3.04e+04 /25
P po 3922+ 0.0
[ pl -33.74 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,814

T rnuizurze+u4 | 25
- po 3907+ 0.0
: - pl -38.53+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,3

AT 1 nuiLEvse+ud [ 25
- po 3887+ 0.0
" pl -34.97 + 0.00

TP delay [ns]

TVC(c,b ch) (7 8,7

- nu 118e+u4 [ 25
P pO 3899+ 0.0
" pl -36.78 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 8

T, 4me+u4/25

- pO 3913+ 0.0
-

p1 -35.12+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7.8,15

T nui ysze+ud [ 25
F. pO 3911+ 0.0
- pl -37.93+ 0.00

P BT
50 100

TP delay [ns]



3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,9,0

A7 nuiosoe+ud [ 24
- po 3852+ 0.0
- pl -39.3+ 0.0

TP delay [ns]

TVC(cbch) (79,4

T rnuzza1e+04 / 25
- pO 3876+ 0.0
" pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (7 9,8

T rnuzgr1e+04 /25
P PD 3900+ 0.0
- pl -34.87 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7,9,12

1 nuiz.4u4e+04 / 25
P pO 3910+ 0.0
-, pl -35.17 + 0.00

PR RS SR B
50 100

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,91

A1 uiz0saerud | 25
- po 3870% 0.0
- pL -37.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

-1 nuz 3uYe+u4 [ 25
- pO 3889+ 0.0
" pl -36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

T 1.uye+us /25
b pO 3931+ 0.0
" pl -35.75+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (7,9,13

Tonanz.3ze+u4 1 25
P pO 3898+ 0.0
- pl -36.41+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (7,9,2)

K™ 1nuiLgyie+ud /25
M po 3880+ 0.0
[ ™ pl -37.65+ 0.00

3000

TP delay [ns]

TVC(cbch) (79,6

©1nu.4sze+04 [ 25
B pO 3891+ 0.0
[ = pl -36.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (7, 9 10

1 nuig,pube+u4 / 25
- DO 3925+ 0.0
| "
[ pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,914

T zzze+u4 /25
F. PD 3904 0.0
: - pl -35.89+ 0.00

3000

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,3)

AT 1z uzoe+ud [ 25
- po 3874+ 0.0
- pl -37.54+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,7

-1 U Zbae+u4 [ 25
- pO 3894+ 0.0
- p1 -37.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 9

AR b/ie+U4/25

- po 3935+ 0.0
-

pl -35.95+ 0.00

TP delay [ns]

TVC(C, bch) (7,9,15

-1 nuiz.qo8e+u4 / 25
F. pO 3917+ 0.0
- pl -38.12+ 0.00

TP delay [ns]



3000

2000

1000

4000
b

3000

2000

1000

4000
b

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (7, 10 0)

[ C=28.09 [ps/C ]

T, 1se+u4 [ 25
pO 3857+ 0.0
p1 356+ 0.0

1
100

TP delay [ns]

TVC(cbch) (7.10,4

T z41e+04 /25
pO 3898+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (7, 10 8

T g zole+u4 / 25
PD 3907+ 0.0
p1 -36.74 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7.10,12

Tz s1ze+04 /25
pO 3926+ 0.0
pl -36.26 + 0.00

PR
100

TP delay [ns]

TVC(cbch) (7,10,1)

3000

2000 -

w00 C = 28.09 [ps/C ]

AT 1 nuzbsve+ud [ 25
po 3865+ 0.0
p1 -35.6+ 0.0

1
100

TP delay [ns]

TVC(c, bch) (7.10,5

4000

3000

2000

1000

“rnubhe+u4 [ 25
pO 3896+ 0.0
pl -36.07 + 0.00

1(;0
TP delay [ns]

TVC(ebeh)=(7, 10,9

4000

3000

2000

1000

T 1 nuy. 3yve+ud / 25
DO 3920+ 0.0
pl -36.39 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7.10,13

4000

3000

2000

1000

T nuiz.azye+ud [ 25
PO 3919+ 0.0
pl -36.76 + 0.00

TP delay [ns]

3000
2000

1000

4000

3000
2000

1000

4000

ke,
3000
2000

1000

0

4000

ke
3000
2000

1000

TVC(CbCh) (7,10,2)
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